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Note ; All questions are compulsory.

1. Explain the following stanza with reference to the context :
The curfew tolls the knell of parting day,
The lowing herd wind slowly o'er the lea,
The plowman homeward Eon_m his weary way,

And leaves the world to darkness and to me.
OR

The usual words came and beat

their wings against her : the money spent,
curses heaped upon her parents,

Who had sent her out

f
to darken other people's doors. 8
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% (a) Answer any six of the following questions in a word /
phrase / sentence :

(i} How does the poet compare eternity with morality
in 'Sonnet XVIH' ?

(it} Explain the line 'The glory, jest and nddle of the
world'.

(ili) What do you think happened to the Duchess in
‘My Last Duchess' ?

{1iv) Comment on the role of time in the poem "When
You Are Qld.

(v) Why does the poet call the bangies 'token of
radiant lives' ?

(vi) Who is a Pagan, according to the poet in "The
World Is Too Much With Us' ?

(vii) Why does the poet cail the bangles 'token of
radiant lives' 7

{viil)) What does Tagore mean by 'Narrow Domestic
Walls' ? 6

(b) Answer any nre of the following questions in about
100 words each :

(1) What is Pope's concept of man in 'Know Then
Thyself' ?

841/35 200/KD/9%0 2

(i) Evaluate 'My Last Duchess’ as a dramatic
monologue.

(iiiy What kind of freedom does Tagore visualise for
his country in' Where the Mind is Without Fear' ?
(6+6=12)

3. Answer the following in about 200 words :

According to the poem, 'Elegy written in a Country Church
yard’, what are the ways to pay tributes and respect to the
dead 7

OR
Comment on Yeats' views on love as revealed in the poem
'When You are Old' ? T 12
4. (a) Attempt any fifteen out of the following :

Insert 'to’ where necessary before the infinitives in
brackets:

(i) He made me (repeat) the lesson.
(ii) It is easy (make) mistakes.
(it} You ought (get) up earlier.

(iv) Would you (like) (come) in my car ?

841/35,200/KD/990 3 [P.T.O.



Fill in the blanks with suitable prepositions :

(v) He could not jump the wall.

(vi) The cat sat the table.

(vii) We shall reach Delhi three hours.
(viii) 1 saw her standing the window,

Use appropriate relative pronoun to fill in the blanks in
the foilowing sentences :

(ix) I met Raghu, ______
absconding, this morning.

has been reported

(x) The apple fell on Newton's head knew
nothing about gravity.

{xi) Kirti, mother is the chief guest, is a dear
friend.
(xii) Kerala, I found my calling as a nature

photographer, is my second home,

Fill in the blanks with words formed by adding suitable
suffixes to the ones in brackets :

(xiit) Let us stop this discussion. {meaning)
(xiv) Is there some new ? (develop)
841/35,200/KD/990 4

(xv) Have a of honey in the morning. (spoon)
(xvi) We need the director's for the project.
(approve)

Using the words in brackets, rewrite the following
sentences !

(xvii) Unless you stop smoking, you will not get well,

(If)
(xviii) If you do not work, you will not be paid. (unless)

(xix) She was not careful, so she lost her purse. (had
been)

(xx} If there is a medical emergency, call the doctor
immediately. (in casé) 15
(b) Define any one of the following giving suitable
examples :
(i) Ode.

(i) Irony. 6

(c) Give phonemic transcription of any five words !
(i) Summer
(ii) Breathe
(iii) Wander
(iv) Err
(v) Glory

841/35,200/KD/990 5 {P.T.O.



; 2, Wil - on any one of the following in about 300
(vi) Beat -] rite an essay y g

words :
(vii) Proper .

(iy Value of Games.
(viiy) Passion. 5 .

(i) Punctuality.

OR (iii) Religion and Politics.

. . Nature. HN
(For Blind Candidates Only) (iv} Beauties of Nature

Give antonyms for the following words. Do any five :
(i) Usual
(i1) Spent
(iii) Brightness
(iv) Make
(v) Faithful v
(vi) Sunlit
(vii) Comma
(viii) Give. 5
(d) Write synonyms of any four words ;
(i) Great
(i) Powers
(iii} Bare
(iv) Waste
(v} Qutworn

(vi) Melodies. 4

3 : QO] 7
841/35,200/KD/990 6 841:35,200:°KD/990



Change the voice :

(e) How could you do it?

(f) The boss granted him leave.

(g) She planted the saplings.

(h) They punished him.

Change the narration :

(i) Vikas said,"Why are you arguing?"
(j) Geeta says, "It's very tasty."

{k}) He requested me for a glass of water.
(1) She refused to go.

Correct the following sentences :

{m) They have ran the race.

(n) Great are always humble.

(o) It is such a car which [ desire.

(p} He does not know to swim.

Make sentences for each word so as to bring out the
difference between the following pairs of words :

{q) Peace, piece.
(r) Course, coarse.

Transcribe the following words phonetically :

{s) Hot.
(t) Idiot. (16x1=16)
842/10,500/KD/225 4
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Note : Attempt all questions.

1. Explain with reference to the context :

(a)

(b)

Life is real ! Life is earnest
And the grave is not its goal,
Dust thou art, to dust returnest,
Was not spoken of the soul.
OR
And if there is some scenery,
Some unpretentious greenery,
Surviving anywhere,
It does not need protecting
For soon we'll be erecting
A Power Station there.

The wise Devavrata realised that there must be a
secret cause for the mental condition of his father,
and questioning the king's charioteer came to know
of his meeting with the fishermaiden on the banks of
the Yamuna. He went to the chief of the fishermen
and besought his daughter's hand on his father's
behalf.

842/10,500/KD/225 [PTO.
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OR

Sakuni replied : "Yudhishthira is fond of the game of
dice and being skillful, is altogether ignorant of its
tricks and the opportunity it offers to cleverer people.
If we invite him to a game, he would accept, following
the tradition of the kshatriyas. I know the tricks of the
game and [ shall play on your behalf. Yudhishthira
will be helpless as a child against me. I shall win his
kingdom and wealth for you without shedding a
drop of blood.” (6x2=12)

2. Answer any four of the following questions briefly,
choosing at least rwo questions from each text — Sounds of
Stillness and The Mahabharata -

(i)  Why are the old masters admired by Auden?
(Musee Des Beaux Arts)
(i)  What does Tagore mean by 'marrow domestic walls' ?
(From Gitanjali)
(i) Who was Tim? Why was he jealous of the
Highwayman?
(iv)  What sort of qualities would Yeats like his daughter
to have?
(v)  What happened when the eighth son was born to
Ganga?
(vi)  What boon did Siva give Amba?
(vil} What curse was pronounced upon Yayati?
(viii) How were the Pandava princes born? (5x%4=20)
842/10,500/KD/225 2

3.

Attempt a detailed summary of the poem The Highwayman.
OR
Give the theme of the poem Ode on a Grecian Urn. (10

Describe briefly the swaymvarg of Draupadi in your own
words.
OR
Who was Sakuni? How did the plan io ruin the Pandavas?
(10)

Use any nwelve of the following words/pharses in sentences
of your own :

{a) Deceive (b) Freeze

(¢) Keen @  False

(¢) Scarcely () Tribute

(g) Pursuit (h) Distant

(i) Grasp () Reveal

(k) Fugitive (I} Obstacle

{m} Crawl (n)  Acquire

(o) Lustre. (12)

Attempt any sixteen items,
Supply the correct form of the verb given in brackets :

- S T—— to finish it faster please. (try)
() S it a true story? (be)
(¢) He always -=ememmene. a white shirt to work. {wear)
(d) Tt-meeeemeeee continuously since five in the morning.
(rain)

842/10,500/KD/225 3 [PTO.
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2.

3.

4.

(W) 3 g ot wgrEr smem
f& ™ 3R o
T FER W W WA W T OREN W
CIIRE RO -
wi-E F fg fan wd w o
It W W oW gf| F @ o @
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weRE T ovgmr ifusive T@ w1 wifes i
s 8

frafafas & € fFel WX WA # 3w Afww

(F) ' f/ s IR’ wfEw w1 s2yw fafay

(@) YRA-VNUT 3AS H1 FTH- F OFEET B

(m ‘ol ™ fe-wmm ¥ w

(M) ‘T’ 7 am-deft w® v T

(%) '3 TR v ' Fm = v fafaw

() 'IRA-9RE’ F SRiEa W oy i
(4x4=16)

frefafes 4 2 fa=ff ot T 3 I Hfwe
(%) Hfrre + favtved oW
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6.

(@) {fafrs ==mvwm +1 v v =1 s )

(M e 1 v dffefe e ool w5

() e # e FogEE W AW frar wee
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Frafafas et & @ feeff @Y & I w150 vy
H A

(F) ffrm = e fFm ok = =

(@) ifEy F=ur w1 9wy fem Afa

(m ‘feer’ e B wEas wfy ¥ iy #ifw
(F) TFHE F F7 F Rwwed TEmu (2x5=10)

frfefan v W R PR A B Im A
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VE + T, VFY + FE, I o+ VE o+ T,
Vo + g, VR - Ty, Ve« oY, VEe - e,
VET + VY, VE{ + VMY, VAR + F, VW + ey

5. (F) A W yemr gEf § R e avi & FEER

ot =
3, Y, ¥, SR, W, &, I, I (4x2=8)
() yrard e ey s fee|
e
=fF-yoRd TF 95 weE e fEd)
(8x1=8)
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GSM/D-18 855
HISTORY
[Political History of India (1526-1857 A.D.}}
Opt. (i)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 is compulsory. The part relating
to the explanatory note on map will carry full marks for
visually handicapped candidates only.

AT : T OWE R TE W F T OFWE W, [ U
T ® TR AN ww " | sfverd ¥ SwEN
foafefal = Aefas gmed feool am am o s
W R HE Ry s

Compulsory Question ( 3Famd wys)

1. Tick the Right answer :
T S 9T
(i) Who was the successor of Babur ?
(ay Kamran
(b) Askari
{¢c) Humayun
{d) Hindal.

855/14,200/KD/1639/Map of India [P.T.O.
12/12



TR F ITOHEE FEA A4 (iv) In how many parts land was divided by ‘Zabti

(%) FFA
(@) st
(m e
(W) fr=me
(i) When was war of Kannauj (Belgram) fought ?
(a} In 1530 A.D.
(b) In 1532 AD.
(c) In 1539 AD.
(d) In 1540 AD.
FW (FTR) F T W TG T A
(F)1530 ¢ 4§
(@) 1532 &
(M 1539 ¥ H ™)
(9) 1540 % H|
(1) Where was constructed ‘Ibadat Khana' by Akbar?
(a) Agra
(b} Delhi
{¢) Lahore
(d) Fatehpur Sikri.
FFER A TEEaEE’ w T w7 T o
(&) 3T
(J) faz=it
(M =R

(9) FEER Hrawd

System’ ?
{(a) 6
(by 3
(c) 4
(d 2.
'Ft o ® oEER Y @ feed wmi § a
S ar?
(F)6
(@) 3
() 4
(¥ 2.

- -

The battle of Plassey was fought between British East
India Company and :

(a) Mir Jafar

(b) Siraj-ud-Daulah

(¢) Shuja-ud-Daula

(d) Shah Alam II.

e w g el T ffewm fe tfew we o

(F) R T
(@) frdren
ORICERSI

() g A 1L

855/14,200/KD/1639 2 855/14,200/KD/1639 3 (P.T.O.



(vi) The state of Jhansi was made a part of the British Empire (viii) Who was the Governor-Ggeneral of India during the
in India through : revolt of 1857 ?
(a) Lord Dalhousie

(b) Lord William Bantick
(¢} Lord Canning
(d) Lord Hestings.

1857 # foEe = I 9w + TEH-ITE P

(a) Doctrine of Lapse
(b) Policy of Subsidiary Alliance
(¢} War against Rani Laxmi Bai

(d) None of the above.
i w T w9 ¥ fiftw o # oanfm o w@

o7
¥ fom fFm s & e T g
() oW Afy (@) T fafemm s
(@) Hews §fg qonedt (M o R
(M T Tl o8 # faes 43 (W) | B

(%) I90sa ¥ ¥ wE TE

(vii) Treaty between Britishers and Maharaja Ranjit Singh :
(a) In 1839 A.D.

UNIT-I (353-1)

2, Discuss the causes, events and impacts of the first battle of

Panipat. 16
(b) In 1845 A.D. ; X s . —
(c) In 1845 AD T . o il
e faa=m Ffu
(d) In 1858 A.D.
3. Critically examine the Religious Policy of Akbar. 16

S 7 wEwwr o oy s v g
sFat F uitfE Wy = oo Tefan wifm

(F) 1839 % H

(@) 1845 % A UNIT-II ( ¥%é-11)

(M) 1845 ¢ H 4., Write an essay on the Mansabdari system during Mughal
(9) 1858 € Feriod. 16

PIHETAH THaR 9 W TF ey fad)
855/14,200/KD/1639 4 855/14,200/KD/1639 5 [P.T.O.



5.

How far do you think was Aurangzeb responsible for the
decline of the Mughal Empire ? 16

T U W T & o e W oo wE oaw
Tt TR #?

UNIT-III ( 35Fmd-111 )

Describe the causes, events and results of Carnatica Wars.
16

FAew ® L F IO, g 7 ool = oI=w
F|

Explain about the Political, Social, Religious, Administrative,
Economic and Military causes of uprisings of 1857. 16

1857 % ® A Tamm ® qofys, mfes, wifde)
TR, w7 Bt Fon w avi &)

UNIT-1V ( ¥&T§-1V )

On the outline map of India, show the Mughal Empire at the
Death of Akbar (1605). Also write an explanatory note.
(10,6)

WRE % EfEd AEfad W e # g ® 99g
(1605) ®n& wwna fRERT Ao T =ees  feooh
9t fafim)

855/14,200/KD/1639 6

9.

On the outline map of India, show the expansion of British
Empire upto 1856 A.D. in India, Also write an explanatory
note. 10,6
YR % t@ifEa wmtas W 1856 § % fafw e @

faam zwize & sremms fooh st fafew)

855/14,200/KD/1639 7
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GSM/D-18 856
HISTORY
[Political History of India (1526-1857)]
Opt. (1)
Time : Three Hours] [Maximum Marks : 80

Note 1 Atternpt five questions in all, selecting one question from
each Unit. Question No. 1 is compulsory. For visuaily
handicapped candidates, the part related to explanatory
note will carrv full marks.

A ﬂﬂmﬂmmﬂmﬂﬂgﬁmﬂﬁwﬂhmﬂaﬂ

A FT I e | b #) gfede soieen
F fou =t = ® @ ) o B

Compulsory Question ( 21Fard Wy )

1. Choose the correct answer :

T IR g

(1) In which language the Tuzuk-i-Baburi is written by
Babur ?
(a) Urdu
(b} Arabic
(¢) Turkic
(d) Persian.

836/3,400/KD/279/Outline map of India. [P.T.O.



A 3T TR oF T OE-T-ATEd F N W .
T TfHR fiE gR wrern T few owd ¥

7

) T T off?

) ﬂw.. (%) 1699 &

(my (®) 1700 %

R (M 1707 %
(9) 1680 T

(ii) The Battle of Chausa between Humayun and S=ershah

Suri took place in : (iv) Which among the following historians is the writer of

‘The Agrarian System of Mughal India, 1556-1707" 9

(a) 1540 AD
(b) 1539 AD (a) Athar Alj
(c) 1545 AD (b) Satish Chandra
(d) 1537 AD. (¢) Sir I.N. Sarkar
ﬁm%%ﬂaﬂ«w&d%ﬂmﬂaﬁ% (d) Irfan Habib. ..
(%) 1540 % W Frfafen themerl § @ 9 ooy fmew e
(@) 1539 £ B o s, 1556-1707' ®1 omw = &)
(my 1545 ¥ # (F) R o7eh
(7) 1537 & W (@) T =%
(i) In which year the Khalsa was established by Guru SURL A
Gobind Singh ? () REH w&ta)
(a) 1699 AD (v) When did Vasco-Da-Gama come to India ?
(b) 1700 AD (a) In 1498 AD
(c) 1707 AD (b) In 1497 AD
(d) 1680 AD. (c) In 1500 AD

(dy In 1505 AD.

856/3,400/KD/279 2
856/3,400/KD/279 3
[P.T.O.



(vi)

FEET WA ¥ w1 e on
(F) 1498 ¢ ®
(@) 1497 T o
(M 1500 % o
(7) 1505 ¥ H)

Who called the event of 1857 as the First War of Indian
Independence ?

(a) Bal Gangadhar Tilak

(b) Raja Ram Mohan Rai

(¢) V.D. Savarkar

{(d) Dadabhai Naoroji,

T 1857 H WA F OYRAN YRR H g HuH
e wer

fefafes & ® fre wR-Tw Y dw @ fae
w1 @

(%) o fafeqem dfew

(@) 7 e

() FHaTfeR

(7) o TaE

(vii) The Battle of Buxer took place in :

(a) 1764 AD
{by 1737 AD
(cy 1772 AD
(d) 1768 AD.

T T T A1

- .

(F) 97 TmR frew (F)1764 %
R re— (@) 1757 & ®
(M B, T (M 1772 % =
(%) zrard AR (%) 1768 L H)

{vil} Among the following Governor-General who introduce UNIT-I ﬁwuﬂwlh )
the Dectrine of Lapse ?
{a) Lord William Bentinck 2. Throw light on the causes, events and impacts of the First
(b) Lord mmmzsmm Battle of m.m:._:umﬁ. 16
(c) Cornwallis T F wEe g FROn, wemsi ok wWE ™
{(d} Lord Dalhousie. TEY T

856/3,400/KD/279 4 856/3,400/KD/279 3 [P.T.O.



m.

Evaluate the religious policy of Aurangzeb. 16
shimdm & wiEs A # aeftan

UNTT-II (¥=m-11)

Write an essay on the Mughal-Sikh relations. 16
- T gt | fe!

What do you know about the Mansabdari system ? Throw
light on the rmerits and demerits of this system. (10+6=16)

%&%%%m%ﬂiﬁﬁﬂ@%
msﬁi_.ﬂﬂﬂﬂ.m@

UNIT-TII (%11 )

Throw light on the Anglo-French conflict in India and write
the causes of success of the British against the French in the
Carnatic Wars. (8+8=16)

o - aﬂﬂﬂaﬂ@.ﬁ%m@.
# widfed .%ﬂ.ﬂn%&ﬁﬂmﬂ%%mﬂ@
Examine the causecs of the Uprising of 1857. 16
;mq%%%ﬂﬂiﬂ_%ﬁ_

UNIT-1V (yE-1V)

On the Outline Map of India, show the Mughal Empire at
the death of Akbar (1605). Write a note also. (10+6=16)

856/3,400/KD/279 6

856:3,400/KD/279

T ¥ t@itwe wetes
% W, SHE F GG (1605 L) ®

0 A .
n the Outline Map of India, show the Expansion of British

Empire upto 1856, Write a note also. (10+6=16)

ﬁaﬂﬁﬁﬂ.gﬂmﬂ‘ 1856 7% % fafew wow =
frmr T w feoof o fE
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Note : Attempt any five questions. All questions carry equal

marks,

T FE Ul W T w0 i S % ofE §HH B

1. Criticalty examine Plato’s views on Education. 16

w & e fuere W aEeTeE s Fifm)

2. Critically examine Aristotle's theory on Justice. 16

o F oA F fogm w1 weETeTs e it

o

Discuss the influence and contribution of St. Augustine.
16

Td STERY & TE Ud GEER R OSSR F

£62:2.100:KD/383 PT.0.



4. Why is Machiavelli called the First Modem Political Thinker ?
16

fwaEet F ym amtE FEE = Fw e €

th

Discuss Locke's contribution of Political Theory, 16

Ealicac i i £ B2 i Lic - d
6. Critically discuss Rousseau's theory of Social Contract.
16
w0 B TAfiE g F f9g= § STeETeTE e
F1
7.  Discuss Bentham's contribution to Political Thought. 16

TEYH @ 9" H T F1 fHEEa st

8.  Critically discuss J.S. Mill's view about Liberty. 16
S oo & @ema wEefl ffeR F SdEeE

= Sl

862:2.100/KD/383 2

SO T DK YIRS

Obiective type questons.

FEIAEs WA

) Aristotie

(o) NograleEs

¢y Cicero

{dy Pahbeous.

i wO® WA T
(FY B

() wEIE

(M

(EY @A

ot vvho said, Man eoa wovial ansina

Lt Plaro
(v ATsedle
wr o Aachiaveln

1dy Bentham.

sabt

{IxE=10)



e ol 2 (' Who wrote the beok ‘The Price’ ©

ioala

Al

(4r Ans

™ -

.,.U_

CE EwRY
Al

3
1
o
|
%
ﬂ
ﬁ,,
e
-

- —
S0y Terenon e . L B E s
HADBmpomant comaberion of 8t Aususiine o _
T S et
il MR SR

ey

ireory of

i) ducanon

thi  U'nivarsalism

—/ N E
red Row Ruesy
t) Religmn of Sgiennd, Theory
W OANERR W wEewqy 4w g
fl.“
=T
= - .. .
. EeE T 3
(W) wmlEEas
1) T TR e
MY wIT
Bt
VY R
SR K7 s 3 PO




4. Why i» Machiavelli called the First Modemn Political Thinker ? {viii) “Utilitarianism™ is written by
16 (2) James Mill
. . _ .. .. {b} Bentham
Hfeameet #1 Yom s fTEnE 5= @ ST
(cr 1S, Mill

5. Discuss Locke's contribution of Political Theory. 16 (dr  Spencer.

“Utilitarianism™ & o9& ©

L raEifeE fagme w dE w1 €9 w1 ATH ol

(%) ) fam
(@) wum
6. Critically discuss Rousseau's theory of Social Contract, .
16 (M) AR foe
(9) T=RI

A ¥ OfaE qEey § fagr # SIeieAsTE e

FI

7. Discuss Bentham's contribution to Political Thought. 16

TFEER FH AW F W F fadew sifaw

8. Critically discuss 1.S. Mill's view about Liberty, 16

S foe = @rem g fEr w0 oA
A HIeU

8§62/2.100/KD/383 2 562 2.100:KD/383
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4. Why is Machiavelli called the First Modem Political Thinker 7
16
B Ifrareeh = wom sE AT S owE S 8
5, Discuss Locke's contribution of Political Theory. 16
=% T T H A S
6. Critically discuss Rousseau's theory of Social Contract.
16
= % gwfew wugd ¥ fagm ) sreraees sen
Exd
7. Discuss Bentham's contribution to Political Thought. 16
ToEEiR ® oA w3 & REEa sifww
8.  Critically discuss J.S. Mill's view about Liberty. 16
S e v @rem el fGen w1 s
=RAT F U
L3
862/2. 100:KI>)/383 2

(viii) “Utilitarianism” is written by
(a) James Miil
{b) Bentham
(c) J.S. Mill
(dy Spencer.
“Utilitarianism™ & ﬂ@m« g
(F) SR uA
(@) o791
(m sum faa
(9) TR

£62 2. 100/KD/382 7



K-INC Total Pages : 7

GSM/D-18 864
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Te Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal
marks.

Fe . #¥ ute g w0 of v ® oF A ¥

1. Discuss Raja Ram Mohan Roy as a social reformer. 16

T FI- YA TEET TH (F G QURE 9

(]
.

Swar: Dayananda was a Religious reformer, explain. 16

WH TYAR TF H YRS 9, e w1

3. Examine the Economic Idea of Dada Bhai Naoroji. 16
W AR # onfdw feu #t wllan w)

4. Examine Gokhale's Liberalism and Nationalism. (8+8=16)

TES ¥ TRER q TREAR F g Hwii

864/2,100/KD/280 [P.T.O.



864.2.100/KD/280

Mention briefly the contribution of Atrotrmz: Toesx 16

= O # ARE W UEY oA

Explain the Political Ideas of Lala Lajpat Roy. 16

== ¥ g F TOEE fEER # oave w

Was Tizx z Revelstionary ? Explain. 16

Was Swami Vivekanand Forsrinner of the vouth ? 16

Objective Type 1Multiple Choice) Question. (2x8=16)

FHAS (FEEFT) WA

(a) When Raja Ram Mohan Roy was born ?
(iy In 1770
(i) In 1771
(i) In 1772

(ivy In 1773,

[ g

TS THAE T F W T BT an?
i 1770 ®
(i) 1771 o
@) 1772 ®
(iv) 1773 9

(b} Father of Swami Dayanand was
(i) Kripa Shankar
(1) Gori Shankar
(i) Shiv Shankar
(iv) Uma Shankar.
B AT R fy s
) FUNTFR
(i) TrwFER
(iii) fravwr

(iv) IumTET
864/2,100/KD/280 3

(P.T.O.



(¢} Who was the Grand old man of India ? M F G F9 BT o417

(i) Mahatma Gandhi G 1905 &

(i) Pt. Nehru () 1906 H
(iii) L.B. Shastri :
(iii)y 1907 ®
(iv) D.B. Naoroji.
(iv) 1908 I
WRd F WN §§ = 9

(e) Who was the Guru of Swami Vivekanand ?

@) e (i) Swami Birja Nanad

({) 9 TEE (i) S. Purnanand L
(i) T TEFL I (i) S. Shardhanand

(v) B st (iv) Ram Krishan Paramhans.

7
(d) When was Bangal divided ? @t feasER ® T W Am o

@ Tn 1905 ()
(i) In 1906 (i) = o
(i) In 1907 (i) = =
(iv) In 1908. (iv) THFST TWHEAI

864/2,100/KD/280 4 864/2,100/KD/280 5 (P.T.O.



—

wa FA?
(f)  Who wrote ‘Anand Math® ? == =TA99 14 o <A
(i) Aurobindo Ghosh L1875 H
< 1882 H
(i) Ravinder Nath Tagore _
(i) 1888 H

(iii) Bankim Chander Chatterji

vy 1897 #
(iv) Madhu Sudan Duut. h Tilak died in ?

AL WS #T N F o (i) 1920
i) 1921
i) g= Om 3  oan
(i) 1922
(i) o=y w3 fivi 1923, "

S FT OTETR RA G/
(i) FFw ¥ T I :
YR (iy 1920 =
v o Gi) 1921 H
i) 1922 ®

(¢} When Lala Ji became Arya Samaji ? (i) 19

Gv)y 1923
(i) In 1875

(i) In 1882
{ii1) In 1888

(iv) In 1897.

864/2.100/KD/280 6 864/2.100 KD 280 7



8. Write notes on the following :
(a) Short Run and Long Run consumption curves.
(b) Determinants of Propensity to consume. (8+8=16)
fm W AR fod .
(F) AT e e Iwsim =)
(®) Swvim-Tafe & Fauiee)

UNIT-1V ( ¥&m-1V )

9.  What do you mean by Marginal efficiency of capital 7 What
are its determinants ? Explain, 16

ot # wimia qweRn @ o = T ¥ wE ke
T wA-4 ¥ = S

10. Write notes on the following :
(a) Relation between MEC and MEL

{b) Types of Investment. (8+8=16)
fa w e fag .

() ISt =t g SrEww qen faw w1 dwig IengEa
" g
(@) f89 # =R

865/6,550/KD/1465 8
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GSM/D-18 865
ECONOMICS
(Macro Economics~I)

Time : Three Hours] {(Maximum Marks : 80

Note : Attempt five questions in all, Question No. 1 and 2
of Part-I are compulsory. Attempt the remaining three
questions selecting one question each from any of the
three units out of the four units of Part-II. All questions
carry equal marks.

T F e W N M-l F W wEm 1 § 0
e # 9 #F T D eI % R
7 9 e 9 wmdl ¥ um-ua o g g #E
o W F o wEm ¥
PART-I ( WT1-1 )
Compulsory Questions ( 31484 Wwya)
1. Following table shows aggregate demand price, aggregate

supply price and possible levels of employment in an
economy

Possible Levels of Aggregate Demand Aggregate Supply

Employment Price Price
(Lakhs) {Crores of Rs.) (Crores of Rs.)
10 100 50
20 160 100
30 210 150
40 250 200
50 280 250
60 300 300
70 310 350
865/6,550/KD/1465 [P.T.O.

14/12



(M) TF sdegaeen Yol IovR & foorfy & 9w =

(a) Which is the point of effective demand in this table ?

. 7
Determine the level of employment in this economy. T ¥
(b) What is underemployment equilibrium according to (%) "9Eqol M’ (Effective demand) ¥ MTOT F1 =47
Keynes ? Show with the help of diagram. e )
(¢} How an economy can attain the point of full
employment ? 2. (A) Choose the correct answers from the given alternatives :
(d) What is the importance of the concept of effective T W faEe d S w3 ol
demand ? (4x4=16) . .
) (i} Import of goods is
Fr= ik 1 g = i ﬁi (a) Injection to the National income
Fgg AW WA TR ™ W ozo o ¥
(b) Leakage from the National income
wafay TR FA WO FEE FA 9w (c) Both leakage and injection
T (W) ( _:_m. ) ( ) {d) None of the above.
0 . B
10 100 5 T w oo ¥
20 160 100 .
(F)TE™ o o gury
30 210 150
40 250 200 (@) T o @ e
50 280 250 (M) fam aw Tdw <=
60 300 300 (0) ¥ ¥ ¥ w)
70 310 350 (i) If MEC < Rate of interest, then
(F) W Wes & ywqel @’ @ fay w8 ™ (a) Investment will decrease
wfegaTen ¥ TR % W F Fuifa wifaw (b) Investment will increase
(@) TR TR (F F IqEn) ¥ 27 W f () Break-even point
) gErEd @ foar (d) Neither increase nor decrease,

865/6,550/KD/1465 3 [P.T.O.
865/6,550/'KD/1465 2



It MEC (Yt 7 ¥t arern) < =1 # MPC (F9id I9ERT TGRI) + e = L

w”, W (%) ¥iu T=m Wy
(F) fréw ww o (@) @ swa wgfa
(F) T |/ T T
(M wEfse fag . .
(v} Which of the following is not a transfer payment ?
(=) 7 m.mud, T W (a) Old age Pension
(i1) Full employment is a normal feature, according to (b) Scholarship
(a) Classical economists {¢) Unemployment Allowances
(b) Keynes (d) Payment to Domestic servant. 5
(c) Hicks frofefas 9 @ ¥R- TR e et b
(d) All of these. (%) g 9
Tt IR TF W smen ¥ aw frem ¥ (@) Bty
(F) Wegard e = (1) WG
| FR B PEA
(@) 9 & (%) =g
(B) Match the following with their correct answer :
(m) femm = . . : :
(a) Supply creates its (i) Consumption + Saving
(2) 39 wft = own demand
A:& MPC + ............ = 1. AUV The General ...—...w,-ﬁOn.w‘1 of Q,—v - H”\mwo
(a) MPS Employment, Interest
d M
b) APS and Money
© APC (¢} Multiplier (iii) J.B. Say

@ N £ the abo (d) Keynesian Economics (iv) Keynes
one of the above.

(e} nsposable Income (v) Short-run 5
865/6,550/KD/1465 4 865/6,550/KD/1465 5 {P.T.O.



et faem Ffeg .

(a) I s Wi = (i) 39N + T
=y fofm Fwh #

(b) The General theory of (i) ﬂlwﬂ—.&
Employment, Interest (dista Sovm waf)
and Money

() T (i) X =

(d) T3 srefomen (iv) =

(e) TARY 9 (v) JeqRTA

(C) Answer the following questions :

(a) How monetary national income can be converted
into real national income ?

(b} Show induced investment with the help of a
diagram.

(¢) What is Micro-macro paradox ? 6

(%) AF T™ am W aANE TP o ©
Y TRafls frar o Tw@ ¥

(@) fax =1 wemm ¥ e frw faEnu
(M) =fe-wEfe faiuam T #7

865/6,550/KD/1465 5

PART-II ( 9T/ 711 )
UNIT-I ( ¥&18-1)

Discuss Circular flow of income in Two, Three and Four
sector economy. 16

% @R ok WR o seferERyn ¥ oM # W®MA WA®
W R R

Discuss the nature, scope and importance of Macro
Economics. 16

Tafe swivrs w WEly, &% 9w HES AUl

UNIT-II ( 3%-1I )

Critically evaluate Say's law of Market. 16

I % aER fan F1 AEEAeE =@ Fw:'l

Differentiate between Classical and Keynesian theory of
Income and Employment. 16

WA A = % 99 9 4R fagm ® 9=
e Hifeu

UNIT-III ( ¥%3-I11 )

What do you mean by Consumption function ? Discuss
Keynesian Psychological law of consumption and its
implications. 16
IHIM-TER Y A w IORE ¥ B T I9Nm F
TRl fam % wmen W W fem w e
F1 st W= T

R65/6.550/KD/1465 7 [P.T.O.
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GSM/D-18 866

ECONOMICS
(Macro Economics-1)

Time : Three Hours] Maximum Marks : 80

Note : Attempt five questions in all. Question No. | is
compulsory. Select one question from any three units and
the fifth question may be attempted from any unit. All
questions carry equal marks.

AT . WA ue W RPN oy wEm 1 stwd & faed
i wRgl § ¥ um-uw W w1 owe ¢, ufem
3 fF ot = ® = owwa ¥ oo v ® ot
T #
Compulsory Question ( otfETd we)

1. State whether the following statements are True or False :

(a) Theory of National Income comes under the scope of
Macro Economics.

(b) According to classical Economists, Full Employment is
a normal feature.

(c) Price level and value of money are positively related.
Fill in the blanks :

{d) Depreciation is .......cccceeen, in the calculation of GDP,
{included/not included)

56672, 100/KD/28 ] [P.T.O.
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(e} If MPC = 0, then value of Multiplier will be ...........

(f) The rate at which money changes hands is known as
............... (Elasticity/Velocity of money)

Choose the correct alternative :

(g) MPC is always equal to
(i) One
(ii) More than one
(i} Zero
(iv} Less than or equal to one.
(h) If MEC > R.O.L (Rate of Interest; then Investment will
{under normal conditions)
(i) Increase
(iiy Decrease
(iii) Uncertain
(iv) Remain constant. (8x2=16}

frafafes wam wft & s vem .

()T oW # fagre anfe sifvmew # &% §
mits £

(@) TrEE stemferal # 3 ER, g0 T vF wmry
feafy

() FE-TR 7 TW F o8 ¥ TI00F o9 F|

fam T W

(9) GDP (W&d =T IWwRA) & T T geamm F
................ fFm W § (=it T

866/2 100/KD:281 2

(¥) 7% @wE i wofe = ¥, & w w1 g

................... Lapf (1/10)

@ RGO . FW
a2 (drasE 1 9w R
ot e

(T) MPC (¥ 399 wafa) wdwn awar ot &
(M=
(3) = ¥ i
(|) =™
(D TH EFY AN EF T TR
() 3% MEC (qsit #1 ®hia suem) > =mw &1 =,
T (e wifefy ®) frdw
(3) =g
() Fem
(9) sffrae
(%) feerm wm

UNIT-I (¥&18-1 )

Explain the meaning of Gross Domestic Product (GDP). How
it can be measured ? (4+12=16)

TFA T IR (GDP) ¥ ¥ oy #7 W@ 2% =
M wFAN E?

866/2,100/KD:281 3 [P.T.O.



What is the difference between Micro and Macro Economics.
Explain importance and limitations of Macro Economics.
(6+10=16)

=fie a1 wufe o § = SR §7 o iy
+ TEE o @t # faEsm w1

UNIT-II ( yr8-11 )

“Supply creates its own demand”, discuss the statement. 16
'off st Wi oW @ felm owER ¥, W owR R
=rEE WA

Explain Keynesian Theory of Employment. What are its
limitations ? (12+4=16)
F F TR fegrw ® REEN w9
TR

UNIT-11 ( ¥&m$-111 )
Discuss different phases of Trade Cycles. How they can be
controlled ? 16

=R wH T AR sl (Phases) ®1 §9R HR
@ 29 frfa oW wEa 22

What is meant by Investment Multiplier 7 Discuss its working
and limitations. 16

Ry T ¥ am = e ¥ WE wEa qu S
)

866/2,100/KD/281 4

UNIT-IV (¥%T§-1V )

Discuss Keynesian Theory of Liquidity Preference. 16
9 % mom fm # fagra w = FR

What are the functions of money ? Discuss the importance
of money in a modern economy. 16

W FFE Y oy sdfwmEew A W w wEE
AR

866/2,100/KD/281 5



Roll No. ., Total Pages : 3

GSM/D-18 871

HEALTH AND PHYSICAL EDUCATION
Paper-Theory

Time : Three Hours] [Maximum Marks : 60

Note : Attempt one question each from Unit-I, II, III and IV.
Q. No. 9 (Unit-V) is compulsory,

AT : TAF wwE (-1 ¥ WE-IV 9F) W T T
FIAY 999 FS 9 (FE-V) FEe ¥

UNIT-I (¥%T-1)

1. Discuss the importance of Safety Education. 10
T en # " W ww wH
2. What are the principles of prevention of Sports Injuries ?
10
TE w@E w Vmdam # fagm oww #2

UNIT-1I ( ¥&T3-11 )

3. Explain the modes of transmission of communicable disease.
10
TFEI ol ® T ww #w famm i

871/4,400/KD/1023 [P.T.C.
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Discuss Dengue and Malana in detail. 10

3] IR wofE & frer @ =)

UNIT-1I1 ( $eTd-I11 )

Explain the importance of balanced diet. 10

wfem SR ® W % faem w0

Discuss the factors affecting balanced diet. 10

W SMER ® W FH A FRF W == H )

UNIT-IV ( ¥%E-1V)

Describe the structure of Heart in detail. 10

famar @ frd =1 WA w1 vA w)

Explain the effects of exercise on circulatory system. 10
TREE % W WEAW F WE F SR F
UNIT-V (3&T8-V )

Compulsory Question
(fErd wed)

Answer in short ;
(a) What do you mean by safety education ?
(b) What are sports injuries ?

(¢) Define Abrasion.

871/4,400/KD/1023 2

(d) What are communicable diseases ?
(e) What is HIV and AIDS ?

(f) Define Balanced Diet.

(g) What is Junk Food ?

(h) Write any two functions of heart ?

(i) What are the types of circulations ?
() Explain dislocation. (2x10=20)

ey | sWm DT .

(%) TR foan @ oMuE ¥ AAeE 7
(@)= =5 T &2

(M) wem Y i S

() geoim sfa = &2

(F) e, ok wEw w2
(=) dgfm smR # wRafw F={)
(9) FEETF WRE 17

(W fea & f@si @ w1 = o
(7)) = & ¥R = 17

(%) faarm= #) =mEn w1

P

871/4,400/KD/1023 3



ROl NO. .o Total Pages : 3
GSM/D-18 874
MUSIC (VOCAL)
(Theory)
Paper-1
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one
question from each unit. All questions carry equal marks.

Az TEE HE F Y FA Y A GE WA TW KT
ot woF w0 A W R fw wum #

UNIT-1 (Tmé-1)

1. Write the detail Introduction of the Rag 'Malkauns'.
I ‘weEpm’ w frqe Wi fefau

2.  Write the notations of a Drut Khyal in any Rag from your
syllabus.

A TEEEE ¥ @ el ot ™ # g Tm w
wfye fafam

3. Write the notation of a Vilambit Khayal in any Rag from
your syllabus.

o7 wEmEn & fR o W A faefE T W
wrfafty afk fafaw

874/1,500/KD/104 (P.T.O.



Give full description of 'Ada Chautal’ and write theka with
Dugun and Chougun laya.

T e w P R TR, TR dw 9R afe
fafau

UNIT-II ( ¥%7d-11)

5. Explain the following musical terms :
(a) Dhrupad.
{b) Dhamar.
frfafen arfifes dfeml = a0 =%
(F) x|
(&) ¥H R
6. Write the detail about 'Jaties of Raga'.
T F Wit & R ¥ famr g fafay
7. Describe the placement of swaras on Shruti according to
'‘Bharat Muni'.
‘et # SER g WX % g sifeg
UNIT-III ( T&r8-I11 )
8. What is the importance of Science for the promotion of
Music 7 Write in detail.
it # wOR ¥ faRe w1 Fm e 22 fawm 9 fafau)
874/1,500/KD/104 2

10.

Write the contribution towards music by Pandit Mallikarjun
Mansoor.

To Btw HET ® TS arEm & avi wifEq
Describe the relationship of Music and Science,

T @ form & =i w1 ogvi $ifam

8§74/1,500/KD/104 3



Roll No. ..vvriniiiiinnns Total Pages : 3

GSM/D-18 877
MUSIC (INSTRUMENTAL) SITAR

Time : Three Hours) [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one

AT

question from each section. All questions carry equal
marks.

TF WUE W FW W HH TH WA F T T H[E
ey ® IR AT v oy # oo TR ¥

SECTION~A (WUE-37)

1. Give detailed description of the following ragas :
(a) Jaijaiwanti.
(b) Chhayanat. (4+4=8)
frafafes i =1 e e @ ol
(F) SFTa=i|
(¥) vaEe|

2. Write the notation of Maseetkhani gat in any raga of your
course. 8
HE TEHEs F AR ot oW F wmwMt ™
fafaw)

877/1,150/KD/1025 [B.T.O.
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3.

Write any one of the following talas in different layakaries :
(a) Tivra.

(b) Deepchandi. 3
i ¥ @ fF w T = f5fv= Toeial | fefag:
(%) fran

(&) ==

Write the notation of Drut gat with rweo Todas in any raga.
8

et oft T ok T W @ W@ oW A oAl e
wiefEg gy

SECTION-B ( ©@Us-7 )

Write about the following terms :
(a} Rajakhani gat.

(b) Gram.

Prefafge = % TR # fafan .
(F) @@ T

(@) M|

(4+4=8)

What is Classical music 7 Write in your own words.

e wie w7 o vE B e

877/1,150/KD/1025 2

10.

What is Swayambbhu naad ? Describe in detail. 8

WYy T fFe e ¥ frawm ¥ fad
SECTION-C (&U¥-1])

Write about the role of "Pt. Pannalal Ghosh" towards Indian
music. 8

Ody wMe ¥ 'Y e B O® areH ® fawa o
fofam)

Write in detail about the historical development of Sitar
system. 8

fom wet ® owfew fiwwm & T F frargdw
FofA |

Write in your own words about the origin and development
of Guitar, 8

frer & 39w fow® & a0 § oW v H fafaw)

877/1,1530/KD/1025 3



Roll No. ..o Total Pages : 2

GSM/D-18 887
OFFICE MANAGEMENT

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. All questions carry equal

marks.

e ;. fFE ot T @ s vy oy ® eiw mEm

E{

Define Secretary. Explain the types and qualities of a
secretary. 16

afeg w=x F g Gfwe wfesl ® vEr 3 faewaed
I =En i)

Explain the Role of a secretary in Educational Society. 16

Huiforw ween & whve % ufier w1 oave # R

Define Company. Distinguish between Company and
Partnership. 16

FoAT w1 ufare ey FoR Fon gmEd § o T
Eaiis 1

What do you understand by private company ? How can a
private company be converted into public company. 16

ot wrt @ o w1 wEE ¥ fEm wER ww e
FIA H WESHE FEA G oREia R W wsa )

887/100/KD/111 [B.T.O.



10,

Define Company Secretary. State the qualification and
importance of a Company Secretary, 16

Ft wfgs #1 sy Afew w9 wfey w5 s
T TESS F GUA HITC

State the duties and liabilities of Company Secretary. 16

Fort Wit w wu= 3 wfam w1 R =i

Describe the steps together with documents necessary for
the incorporation of a public company. 16

™ TEHE w9 % AU e SR T ow oW
TEvEE Tora 9w fEEem v

What is share capital ? Explain its forms and different
methods of alteration of share capital. 16

sFygst ¥ o Ry €7 oGSt ® w9 A MwSt #
TfEas ® fafy= =t w1 9o wiem)

What 1s the procedure of allotment of shares of a public
company limited by shares 7 What is the effect of an irregular
allotment ? 16

T Y v dfta A % AW wm omEe fafy =
27 ofrafim s #1 w0 oYNE T B

What do you understand by Transfer of Shares ? What are
the restrictions imposed on transfer of shares ? 16

I F TRiET ¥ AN w T ¥ B YRR
W oFn ghEy %7

887/100/KD/111 2



(b)

(b)

(b)

Show that the function given by

2_ 2
Fly)= @Wiw L i (1) # 0,0)

0 v if (x,¥)=(0,0)

is differentiable at the origin. 2

UNIT-IV
Find the curvature and torsion of the helix
X=acost,y=asint, z = at tan Q. 2\,

If the radius of spherical curvature is constant, prove
that the curve lies on a sphere or has a constant curvature.
2Ya

Show that the locus of the centre of curvature of a curve
is an evolute only when the curve is a plane curve. 2%
The normal at any point P of the ellipsoid
2
b

G,, Ou. Show that the ratio PG, : PG, : vom is constant,
2la

R R
— +>5+=3 =1 meets the co-ordinate planes in G|,
a c

898/4,350/KD/118 4

Roll No.,

Time : Three Hours]

Total Pages : 4

GSM/D-18 898

MATHEMATICS
{Advanced Calculus)
Paper : BM-231

[Maximum Marks : 27

Note : Attempt five questions in all. Question No. 1 is compulsory
Select one question from each unit. All questions carry
equal marks.

(b)

(c)

(d)

(e)
(£)

Compulisory Question

Show that fix) = x2 is uniformly continuous on [-1, 1].

1v2
Write the statement of Taylor's theorem with Lagrange's
form of remainder. 1
. log {x —a)
Evaluate lim £ PRV 1
x—at Hom (e” —e")
3,3
a X+ y o o :
If u=tan™! % .quo%mnaim.._.wlmumama.
X-y ox dy
1Y%
Give the statement of Young's theorem. 1
Define Curvature and Torsion, 1

898/4,350/KD/118 [P.T.O.



UNIT-I
2. (a) Every function defined and continuous on a closed
interval attains its bounds in that interval. 2¥2
(b) Show that there is no real number & for which the
equation x° = 3x + k = 0 has two distinct roots in [0, 1].
pA%)
3. (a) Show that for every value of x,
3 5 2n-1
SINX=X=omd 2me+ (-1 L
31 5! 2n-D!
Hm;
+ (=" sin 8x
(-1 ) ,0<B <, pA%)
. re’ —gcosy+ pe”’
(b) If lim =3 find the values of p, ¢
y—0 ytany
and r. 212
UNIT-1I
4. (a) Find the value of the parameter n so that
V=" (3 cos?® - 1)
satisfies
a( ;0dV 1 9. ,aV
—|r*— |+ =——|sinfd— [=0, 2V
arl’ or | sing o8 36 ‘
898/4,350/KD/118 2

(b} Show that the function f : R2 - R defined by
2.2
X -y
xy —=—=: (xy#(0,0)
.WA.H. Vu = Hm + v\.n
0 ;  otherwise
is continuous at (0, 0). 2%
. - +
5. (a) If v=sin 1_x+2y+3: , show that
Hvaw +y 4+
gy ov oy
Xx—+y—+z—+3tanv=0.. 214
ox ’ dy 0z
(b) Expand tan~! y/x in the neighbourhood of (1, 1) by
Taylor's theorem as far as terms of second degree. 22
UNIT-III
6. (o) Iff, b hﬁ all exist in the neighbourhood of the point
(a, b) and \ﬁ is continuous at the point (a, b), then
x@ (a, b) also exists at (a, b) and h@ou_ b)= h; {a, b).
214
(b) Show that the rectangular solid of maximum volume that
can be inscribed in a given sphere is a cube. 2%
7. (a) Examine the function flx, y) = x> + > - 63(x + y) + 1 2xy
for maxima and minima. 214
898/4,350/KD/118 3 fP.T.0.



Roll No. . Total Pages : 4

. du 5 0%
(b) Solve the equation Ml c wIHN. O0<x<1)t>0, GSM/D-18 WOO
subject to the conditions u(0, ) = u(l, t) = 0 . Z.\w.ﬂmmg.>ﬁnm .
and u(x, 0) = 5 sin 21x W, (Partial Differential Equations)
' ' Paper : BM-232
9. (a) Solve the two-dimensional Laplace equations, i.e, Time : Three Hours] {Maximum Marks : 26
Py 9% Note : Attempt five questions in all. Question No. 1 is compulsory.
— +—= =0 by method of separation of variables. Select one question from each unit. All questions carry
ox“ oy equal marks.
Give all possible solutions. 2l
\ Compulsory Question
(b) Find the solution of Wave equation mlz uhmlmz for
axd o2 ot 1. (a) Find the differential equation by eliminating the arbitrary
2
. du constants A and A from the equation z = Ae™ " cos Ax.
which u(0, ) = uia, H =0, | — =0 and
ar o 1
(b) Examine whether the equations
. X )
u(x, 0) = u, sin® | == |, prY) 0z y 0z X
a IHklj and —=¥y+ ) 3
ox x“+y dy x*+y
are compatible or not. !

(c) Classify the differential equation

2 2 2
mmlml R +m+wuo. 1
ox ox dy dy

(d) Write two-dimensional Wave and Harmonic equations.
1

899/4,350/KD/119 4 899/4,350/KD/119 [P.T.O.



(e) Find the real characteristics of the equation

wmm mum mu
—+4 4
o axey 035

L}

|

=0,

[ )

UNIT-1

2. (a) Find the differential equations of all planes which are at

a constant distance ‘2’ from the origin.

(b} Solve the following partial differentia] equation :

(% =32 =3p + (P =32 _ 209 = zx - ).

2Ys

244

3. (a) Find the complete integral of p = (qy + 2)° by using

Charpit's method.

214

(b} Find the complete integral of .Sm + nuu + py =1 by using

Jacobi’s method.,
UNIT-II

4. (a) Solve (D?+ DD’ -DD72 — D)z = &* cos 2y.
{(b) Solve
(3D? = 2D? 4 D - 1)2 = 4™ cog X+ ).

8. (a) Solve the equation

'z 9%z 9%z 0z

2972 202 0z

¥ ox? +m§mamw+w 9y? ox
0z

I=w|1+:mnkm+wm.

dy

899/4,350/KD/119 2

2

24

2Ya

2

(b)

(b)

7. (a)

(b)

8. (a

Find the general solution of the partial differential
equation (D2 - D’ — Dz = x2y, 24

UNIT-II1

Classify and reduce the equation

to Canonical form. 214

Solve 1~ r sec® y = 24 tan y using Mange's method.

prY
Reduce the equation
2 1" 2
) @ Z mw Z 2 @ Z
XS ==+ 2xy + =0
ot YV aay T 52
to Canonical form and hence solve it. 24
Solve
2pr+ 2qg1 - 4pg(rt - 52) = 1. 2%
UNIT-1V
3z 9P
Find the solution of the equation .|NN.. S subject to
ox dy
" . 0z
the conditions z(x, 0)=sinxand | 2% =CO0S$ X.
dy
y=0
215

899/4,350/KD/119 3 [P.T.O.
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GSM/D-18 900
MATHEMATICS
(Statistics)
Paper : BM-233
Time : Three Hours) [Maximum Marks : 27

Note : Attempt five questions in all. Select one question each
from Unit-I to Unit-1V while Q. No. 9 (Unit-V) is
compulsory.

UNIT-I

1. (a) Three forces P, Q, R acting at a point O are in
equilibrium and the angle between P and Q is double

the angle between P and R. Show that RZ = Q (Q - P).

2

(b) Two unlike parallel forces P and Q (P > Q) act at A
and B respectively. If P and Q are both increased by x,
show that the resultant will move through a distance

IAB Ws
P-Q

2. (a) Three forces P, 2P, 3P act along the sides AB, BC, CA
of a equilateral triangle ABC. Find the magnitude and
direction of their resultant, Also, find the point D in
which the line of action meets BC. 24

(b} The moment of force F acting through the origin and a
couple acting in the plane of rectangular axes, about
three points (1, 0), (0, 1), (1, 2) are 0, I, 1 unit
respectively. Find the force in magnitude and direction,
and also the moment of the couple. 2%

900/4,350/KD/1374 [P.T.O.
10/12



UNIT-11

A uniform rod AB, movable about a hinge at A rests with
one end in contact with a smooth wall. If 8 be the inclination
of the rod to the vertical, prove that the reaction at the hinge

1
is s W3+ sec’ 8, where W is the weight of rod. 5

Find the centre of gravity of the area of position of the curve
y2(2a - x) = x> and its asymptotes whose equation is x = 24.
5

UNIT-III

A solid hemisphere is supported by a string fixed to a point
on its rim and to a point on a smooth vertical wall with
which the curved surface is in contact. It & and ¢ are the

inclinations of the string and the plane base of the hemisphere

: 3
to the vertical, show that tan ¢ = Fl +tan 8. 5

A force F acts along the axis of x and a force nF along a
straight line intersecting the axis of z at a distance ¢ from
the origin and parallel to the plane xy. Show that as this
straight line turns round the axis of z, the central axis of the
forces generates the surface

22 + (2 - Dy?] (¢ - 2)% = 2542, 5
UNIT-IV

A system of forces given by < X, Y, Z; L, M, N > is replaced
by two forces, one acting along the axis of y and another
force. Find the magnitude of the forces and also find the
equation of line of action of second force. 5

900/4,350/KD/1374 2

8. Show that a given system of forces can be replaced by two
forces, equivalent to the given system, in an infinite number
of ways and that the tetrahedron formed by the two forces is
of constant volume. 5

UNIT-V
(Compulsory Question)
9. (a) Find the centre of gravity of a uniform parallelogram
lamina. 2
I ]

(b) The resolved part of a force F in a direction 1s - F.
Find its inclination with the force. Also find the other
resolved part.

(¢c) Forces of 9, 12, 17 kg-wt act along BC, CA, AB, the
sides of a triangle 3, 4, 5 mt respectively. Show that
their resultant is a single force acting parallel to AB,
and find its magnitude.

(d) Define Friction.

900/4,350/KD/1374 3



(h) Who is related with Utilitarianism ?
() Bentham.
(i) Mill
(iii) Both.
(iv) None of these.
TRFEE § TEtm wE ¥
(%) SuR
(@) fre
(M =
(%) =1

910/3,400/KD/934 6

(8x2=16)

Roll No. i, Total Pages : 6
GSM/D-18 910
POLITICAL SCIENCE
{Western Political Thinkers)
Option - (i)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal

e

marks,
fraf ota 9wt # I e o T R ofF TEm
%)

w -

Discuss the main features of Plato's ideal state. 16

T ¥ Y T W T et w1 g s

2. Critically analyse Aristotle's theory of Distributive justice.
16

W F froTe =mm # g # e
THter Fwifww)

3. Discuss St. Augustine's views on state. 16
T HTRERT B T TE ReEn w5 s s

4. Machiavelli was a realist thinkers. Discuss. 16
ATt TF gt freme 9, =mem W

910/3,400/KD/934 [B.T.O.



Explain the main features of Locke's political philosophy.
16

dAF ® ToEeE wH F e fawmmd w1 oavR w

Critically discuss Rousseau's theory of General Will, 16
FE F HE T & U w5 IeETsE =1 i

Critically discuss Bentham's theory of Utilitarianism. 16

FYY F IYIEEE R FAEARE S T

How far did Mill improve the principles of Benthamite
Utilitarianisn. ? 16

fre 4 a=m % IEhEeR % faga | guer fFu

Objective Type Questions :

TGS (TEEHEF) T

(a) Who said, "Man is a Political Animal” ?
{iy Locke
(i) Sukrat
(iii) Plato
(iv) Aristotle,
"o wE e won @0 faee we
(%) =%

(|) gHid
(M =

(7) IE|

910/3,400/KD/934 2

(b) Who is the writer of the book The Prince ?

{c)

(i) Marx

(ii) Hobbes

(iii) Machiavelli

(iv) Rousseau.

T R e TEE B dEw o ¥
(F) T

(@) ¥4

(M) BfFae

(%) T

Plato was :

(i) Roman philosopher
(ii} Indian philosopher
(i) Greek philosopher

(iv) American philosopher.
T o :

(F) T Twifys

() s =it

(M I it

(W) sftews awifs)

910/3,400/KD/934 3 [P.T.O.



(d) Who gave the theory of 'Social Contract' ? (f) Who said that only Church can liberate the soul?

(i) Rousseau. (iy Plato
(iiy Mill (i) Gandhi
(i) Bentham. (iii) Mil
(v) Marx. (iv) Saint Augustine.
o TR T gl fey e 2 3 e wE fr e W B o W ogee R
el ¥
(%) =9
(F) wret
(|) frm _
s (@)
(M) dew
‘ (m fr=
(9) T .
(9) 99 e memAl -
{e) Who is the writer of the book Tivo Treaties on Govt ? () Who is the writer of On Liberty ?
(i) Hobbes () MilL
(i) Locke (i) Marx.
(iii)) Roussean (iii) Lenin,
(iv) Plato. (iv) Bentham.
.W N:Mﬂ. 39 g’ THE RANED 3 EF % .MJ ‘Al FES ® OEF ﬂJl-_. .w.v
(%) ¥rs| (%) et
(| &% (®) ured
(M) &1 (m &
(W) = () dgm;

910/3,400/KD/934 4 910/3,400/KD/934 5 [P.T.O.



9. (a)y Show that the radins R of the spherical curvature is Roll No. i Total Page

given by R? = F? ()7 - o2, 4 GSM/D-18 9
ADVANCED CALCULUS
(b) Find the involute of a circular helix x = a cos u. Paper : BM-231
¥ =asin u, 1 = bu. 4
Time : Three Hours} [Maximum Marks

Note : Attempt five questions in all. Q. No. | is compuls
Select one question from each unit.

Compulsory Question

1. (a) Examine for extreme value :
x? +y? + 8x + 15.

(b) Show that fx) = x?¢ is uniformly continuous on [0,

Pz i
oxdy dyar

(d) Find the equation of tangent line at the point t =
Eonczn.«um.f_.,wui“u_mumx?“m.

(¢) If z=5x% + 2xy + 4y? then verify

UNIT-1

2. (a) Verify Rolle's theorem for fix) = x(x — 4) in the inte
[0, 4].

(b) Using Lagrange's Mean value theorem, prove that

2 2
alal <log(l+x) < x- x

2 Wt X0

023/8.600/KD/1632 4 923/8,600/KD/1632 [P.



I (&)

(b)

4, (a)

(b)

5. (a)

{b)

9218 600WKD. 1632

Evaluate
) l 2
Lim | — —cot” x 4
x—{ x°
Find the value of ‘a’ and b’ so that
. x{l+acosx)—bsinx
Lim 2 =1, 4
s} X
UNIT-11

Show that the following function is discontinuous at
(0, 0):

k)

. Xy .
ﬁﬂ.u._,—.ulwm..ﬁ—u.ov Hm |... V_o M ﬁk.ﬁ V_\v “ AO. Ov &,
1 u=tog {Vx +yy) o Jou, B L
= X [iidad ou _ 1 .
] g y ), prove that e vmv. 2

Expand cos (x + k) (¥ + &) by Taylor's theorem as for

as terms of second degree. 4
If 7 = w2 + v2 + w?, where u = ye', v = xe™, EHN“
X
0z -
find — and m|.. 4
@R mvw

(R

UNIT-HI

6. (a) Iff:R?— R be afunction such that both f and f, are
differentiable at a point (a, b) of the domain. then
,H.,,..,_E. b) uwﬁﬁa. b 4
(b} Show that the function
X7y
- ——  (x, EO)
flxo =4t +y?
F0, (x »=(0,0)
is not differentiable at the origin. 4
7. (a) A rectangular box, open at the top is to have a volume
27 . . .
of Yy cubic feet. Find the dimensions of the box
requiring least material for construction. 4
(b) Find the minimum value of the function X2+ 3+t
subject to the condition ax + by + cz = p. 4
UNIT-1V
8. (a) Forthe curve x = 31, y = 312, z = 213, show that any
plane meets it in three points, and find the equation of
osculating plane at 1 = ;. 4
(b} Find the curvature and torsion of the helix x = a cos 1,
y=asini z=attan . 4
923/8.600/KD/1632 3 (P.T.O.
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determine whethes

. Fing @ Thive Hours] My imum Marks
Solve 1l demenonal bt oot d . ] o . _ .
Solve the one-dimenional buit vquation ST Note @ Attenpt five questions inall Question Noo b s compuls
o , _ L
Select one question Trom cach seetion,

9, {a

R

with boundary conditions wth, 1= wido £1o= 6 umd

tion

lm (x, 1y =140. ! Compulsory (O

J—s

1o Obtain a pertial differemial cqution by chminating

i

(b Solve the cqguation i = A subyeet o condiner - ,

L g

1 -

. - . ' arbitiary functions iroy

) v = oo
(U Eoamine the compatibilhy

Ha, Ol = ey <R .
cgiiions

and wly, e b= e v R i .
i T8y -]
| g Iy o
(cy Write one-dimensional wuve cgqoatren and |
dimensioml heat eqguation.
1y
(vl Solve
(D7 DY 4 D=0
V24 B oo KD S ! URSIERAIE N DR RN |2



i

SECTIO!

L+ g+ p-

T V)

-1
2. {1y Solve
(vF ¥p+ D\.u ~ g =gt - X,
(b} Solve the ?:.:& differential equation
_; + Q = 3pgz =
3. @) Find the complete mntegral of equation =7 =
by using Charpit's method.
(b) Find the complete integral of
J,or 1o oz 2
VIPYPIPE A PIps = pi =0
by Jacobi's method
SECTION-{I
40 @y Solve
(D~ DD + 1y - 1 = cos (x4 v} e
b Solve
(D7 = DD - 2D7 . op ¢ 2
= rhy ol 4+ sin (Qy
5. a) Solve

(D? = 7DD - -
(b1 Solve

(3D -2D2 4 p
24/8,600° KD/ {55

>

o 4 «_.w F ooy (-

Dz =4e™Y oyt + vy

b

A

SECTION-1]

Py otk
& {a) Classify and reduce the CUINON V7 —e o yp~ L
AN @?. -
te Canonical form
thi Solye
25+ (-3 = |
7. (1) Classify and reduce the equation
N S LR ¢
w... a:_ au___ b.f} L,__‘.,
t Canonical form, 4
tb)  Sohe .
PAEIN A+ vy = -t
SECTION-{V
8 ta) Solve the Cauvehy probiem for the equution
¥
Q[ I - . )
ol = e
bl . N
dx CToden
subject 1o conditions
- B
o, W= Hyyand | =2 =g(x), B
\um dran

928,600 KD15s



Roll No. o Total Pages : 3

GSM/D-18 925
MATHEMATICS
(Statics)
Paper : BM-233
Time : Three Hours) [Maximum Marks : 40

Note : Attempt five quetions in all. Select one question each from
Unit-I to Unit-IV while Q. No. 9 (Unit-V) is compulsory.

UNIT-1

1. (a) Two forces P and Q have a resultant R. If force P be
increased, then the new resultant bisects the angle
between P and Q. Find the increase in P. 4

(b) Two like parallel forces P and Q act at given points. If Q
be changed to P and P be changed to R, the line of action
of the resultant is same. Show that R = P#/Q. 4

2. (a) Forces F, 2F, 3F, 4F act along the sides AB, BC, CD,
DA of a square ABCD. Find the magnitude and direction
of their resultant. Also find the point E in which the line
of action meets CD, 4

(b) The moment of force F acting through the origin and a
couple acting in the plane of rectangular axes, about three
points (1, 0), (Q, 1}, (1, 2) are 3, 4, unit respectively.
Find the force in magnitude and direction and also the
moment of the couple. 4

925/8,600/KD/1899 [P.T.O.
17/12



UNIT-1I

Two uniform rods AB, BC of length 2a, 2b respectively are
rigidly joined at B and are suspended freely from A. If they
rest inclined at an angle 0, ¢ respectively to the vertical, prove

sing _ b?

that S = aa+ b

Find the position of C.G. of arc of the curve x = a(8 + sin 0);
y = a(l - cos 8) which lies in the positive quadrant. 8

UNIT-1II

A solid hemisphere is supported by a string fixed to a point
on its rim and to a point on a smooth vertical wall with
which the curved surface is in contact. If 8 and ¢ are the
inclinations of the string and the plane base of the hemisphere

3

to the vertical, show that tan ¢ = 7 +tan @, 8

Equal forces act along two perpendicular diagonals of
opposite faces of a cube of side a. Show that they are
equivalent to a single force R acting along a line through

the centre of the cube and a couple Waw with the same line

for axis. 8
UNIT-1IV

To show that a given system of forces can be replaced by
two forces, equivalent to the given system, in an infinite
number of ways and that the tetrahedron formed by the two
forces is of constant volume. 8

925/8,600/KD/1899 2

8.

A system of forces given by < X, Y, Z; L, M, N > is replaced
by two forces, one acting along the axis of y and another
force. Find the magnitude of the forces and also find the line
of action of the 2nd force. 8

UNIT-V
(Compulsory Question)
Attempt all the following :
(a) Define Angle of friction and Co-efficient of friction. 2

(b) Find the components of a force F along two directions
making angles 45° and 30° with it on opposite sides. 2

(c) Find the centre of gravity of a thin uniform rod. 2
(d) Define Equivalence of two couples. 1
(¢} Define Wrench. |

925/8,600/KD/1899 3
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GSM/D-18 934
PHYSICS
(Computer Programming and Thermodyramics)
Paper — V {PH-301)

: Three Hours) {Maximum Marks : 4(

: Atiernpl any five questions. Question No. 1 is compulsory
Select ons guestion from each Unit. All questions carry
eaual marks. Non-programmable calealator is allowed.

Compulsory Queastion
(> Convert the 18 and 424 decimal Aumbers into binary
cygulvalents. {2
(by  Whar are built-in functions” (2
() What is phase diagram and triple point on 1t? {2
fdy s it possible o realize the process of reversibility ir

actuial proctce? Explan it (2

UNIT-)

What e haste compenent of computer? Explain funciior

et cach. ¢}

5 (4,




£

W

950/8, 550K D/208

Write an algonithm now chan aad FORTR DioETaLN 1OF
evaluation of average. standurd deviation using grray
vanables, (%)
Yind owtl the roois of a guadratic equation with the
heip of developing algorithm, fow chart and FORTRAN

DYOZTan. (5,

UNIT-311

(2} Explain the shseiut

taken o standard scale? Give the ndeoa o

zere on it

(b Goe gram mole of & gas expands isothenmy

s antal value Caleulare e change in

R = 831 Jimoie/K. {4

{ay  Leting third law of 5&5.«.3

second latent heat 2quaiion

ol this equanen.

Find cut facrease in entros

H

y of 2z mole of copn

it iy heated at constant pressuve from S00K o

For copper O = (6. 2+0.00177T) cal ver mule-& i h)

t

2

[
c)_

D8 BEORLNZ05

Sxplain

From

meanine K= bulk modules

=

tcient of volunwe expansion ¢

vilane {4

Exniatn adiabatie der

oinena was used ¢x

leniperaliig toward :.w?_,rm zarg? (£
Fird out the drop hm emperature produced by adizbati
Iy 1 .

i case of vxyzan, wiren e pressur

rainnerntare ol il

: e o Y W iy AR . .
2us py 27T .(., Civern. poder Waals' consta
PxoUvs Niatmoles, b= 302 w1000

Aant mole and O o= 3R {2

L



Roll No. .ccieiiiniienreee Total Pages : 3
GSM/D-18 931
PHYSICS
(Waves and Optics-1)
Paper-VI
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each unit. All
questions carry equal marks,

Compulsory Question

1. (a) The intensity of light emerging from one slit in a
Young's Double slit imkerference set-up is four times

that of the other. Calculate the ratio of the maximum

intensity to minimum intensity in the fringe pattern. 2

(b) How localised fringes are observed in Michelson's
interferometer ? 2

() A zone plate has multiple focii. Explain. 2

(d) What do you mean by Rayleigh's criterion of
resolution ? 2

UNIT-I

2. (a) Derive the conditions of maxima and minima in
Young's Double slit interference experiment. 5

{b) Discuss the conditions to produce good and sustained
interference pattern. 3
931/8,550/KD/1238 [P.T.O.
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What is Fresnel's Biprism ? How is it used to produce
coherent sources 7 Show that fringes produced in Fresnel's
biprism are different from the fringes produced in Lloyd
mirror experiment, 3

UNIT-11

(a) What are Newton's Rings ? Explain its formation and
derive the formula to find the wavelength of light used
using Newton's rings. 6

(b) Newton's rings are observed with a planoconvex lens
in contact with a glass plate. The radius of first bright
ring is 1 mm. If the radius of convex surface is 4 metre's
what is the wavelength of light used ? 2

Describe Michelson's Interferometer. Explain its principle and
working. How will you use it to find the wavelength of light
used ? 8

UNIT-111

Explain the rectilinear propagation of light using the theory
of Fresnel's Half period elements. 8

(a) Explain the working of a zone plate as a convex lens,
3

(b) Discuss the diffraction pattern produced by a wide
aperture rectangular slit, 5

931/8,550/KD/1238 2

UNIT-1V

{a} Discuss Fraunhoffer diffraction at a single slit. Describe
the intensity distribution in diffraction pattern due to
single slit analytically, 6

(b} Discuss the factors on which dispersive power of a
grating depends. 2

Discuss the diffraction at N slits by finding the position and
intensitics of maxima and minima, 8

931/8.550/KD/1238 3



9. (a) Acetamide behaves as weak base in aqueous solution
but shows acidic prepetties in liquid NH,. N

(b)  Why solubility of I; in hiquid SO, increases by addition
of Kl init? !

(¢} Complete the following reactions :

() Pbl, + KNH, e v
(i) SO,Cly + NHy S0 e

(iii) SbCly + NOCl 12202 ..

fad

932/6 V00/KD921 <.

Total Pages : 4
GSM/D-15 832
CHEMISTRY
(Inorganic Chemistry}
Paper « VIII CH-201

Time ; Three Hours] PMaximum Marks : 32

Note 1 Attempt five guestions in all. Question No. 1 s
compulsory. Select mwo questions from each section.

Compulsory Question

1. :2) Write the electronic configuration of Cu and Cu”,

(b} Which of the followigg pairs of atoms have the most
similar ionic radii?
() Ti Zr. () Cr. Mo
(iiy Mo. W {1v} N, Ph.

(¢c) Name & transition metal which is liguid at room
temperaiure.

(d) Give an example of profic solvent.

{e)  Ag(lis sciubie in bgud hut insoiubl

in water.

{F) The total number of metal-metal bonds present in Fe,Cl,
dre .

i¢y Nume the platinum group metals.

by What js Ziegler-Natta catalyse ! {1%8)

9325000/ KDO2] pP.T.0.




SECTION-A
2. {a) lonisation energies of 3d' elements do not vary much
with increasing atomic number. Explain. 2
(by Write IUPAC name of Ni(CO), and explain its structure.
3
(¢} Why the salts of Zn are generally white ? 1
3. (a) Why Cu, Ag, Au form most of the compounds in +2,
+1, +3 oxidation states respectively ? 3
(b) Will Cu* undergo disproportionation in aqueous
medium ? Standard reduction potentials are 0.158 V
for Cu*? to Cu* and 0.522 V for Cu* to Cu. 3
4. (a) Calculate spin only magnetic moment of Nit2
[Ni(H,0)4)*2. 2
(by Justify the statements :
(i) The complexes of first transition series are mainly
high spin while those of second and third transition
series are low spin. 2
(ii} Transition elements in zero or low oxidation state
form complexes with ligands like CO, NO, PR,
etc. 2
5. (ay Which of the following has higher value of
electronegativity ? Explain why.
Ni(II) in sp? hybridised tetrahedral complex
NiCl,(PPh,),.
OR
932/6,900/KD/921. 2

(b)

{c)

(b}

{c)

(b)

8. (8
(b)

ic)

932/6,900/KD/921

Ni(Il) in spd® hvbridised octahedral complex
Ni(acac), 2H,0. 2

Why W is used for making filament in electric bulb ?
2

£

Explain : Fe is a transition element but K is

[

representative element.
SECTION-B

Why do tetrahedral complexes do not show geometrical

isomerism ? 2

Discuss the structure of ethylenediamine-tetraacetate
ligand showing its donor sites. Draw the structure of
[Co(EDTA) ! ion also. . 3

Give IUPAC name of [Co(NH,)(H,0),CI]* ion. 1
What are chelates ? Discuss the factors which affect
the stability of chelates, 3
Write on the following :

(1) Ionisation isomer of [Co(NH,);Br1SO,.

(ii) Coordination isomer of [Cu(NH;),][PtCl,].

(iii) Optical isomer of HOOAQ&MQM# 3

Explain that SO, acts both as Lewis acid and base. 2

In aqueous solution, Na liberates H, gas but is stable
in NH; solution, Discuss. 2

Define non-coordinating solvents with examples. 2

3 : (P.T.O.
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How ¢an Distribution law be aoplied 10 confirm the woll No, ...
tormanion of complex XKiy according o the followin:

L

hiian ? GEXID-18

-
T
1
[
1
A
)
L
2

(b)  The equilicrium constant K for a raaction ar 600 K and
¥ .0 .
820 K are 1 x 1012 and 3 x {0712 pes ectively, Calculats
p Y.

AH for ihe reaciion assuming that it remains constant in ¢ Three Hours) {Maximum Mars ; 3
the 2bove temaperature range, 2 .
Noae s Allempt five guestons in all, Quastion No. 1 is compulsor
9. (&) Inordertoextract a solute X from its solution in a soivent Select o questions from cach section. Use of Log tid
A by means of a solvent B when Uo,r A and B = and Noa-pregramming caleulzior is allowed.
.:535&2? explain as to why i is alwavs advised 1o use
mail Jots of the solvent B at a time. Derive the NECESSi Compulsery Oussticn
.&Hao? 3
() Derive the followin i ta) Whar = the a. ference sraeen exXtensive and nrensiy

Seh L i) Defing Joule-Thomson coefiicient, Whay is the the viiu
‘ ﬂ m‘ of Jenle-Thomsen coefficient for ideal gas ?
whare the symbols have thelr usaal meaning. ' {¢)  Whar is meant by Thermal, Mechanical and Chemics

equibrizsg 7
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Feason. u

1

() Define the tenm Chemical Potental Write an EXProssion
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iby  How will vou prepare Benzoic acid from Ethyl benzene

{¢) Explain why Butadiene shows higher value of A

7t~ 7 transition than Ethylene.

Q36:/6 900K 160 4

Roll No. .. Total Pages
GSM/D-18 &
CHEMISTRY

{Organic Chemistry)
Paper—(CH-203)

Time : Three Hours] [Maximum Marks .

Note ;  Atlempt five questions in all. Q. No. 1 1s compulsory. Sel

any two questions from Section A and two questions fr
Section B.

Compulsory Question

1. (a) How will you distinguish between propane 1.2 diol :
propane 1.3 diol using H1O, 7
(by What happens when phenol reacts with Benze
diazonium chloride i pH -9 - 107
(¢cy Carboaylic acids do not give characteristic reactions
carbony! group. Explain,
{d)y How will vou distinguish between cis and frans isom
by LIV, spectroscopy ?
SECTION-A
2. (a} Complete the reaction and give its mechanispy .
U CH COOH e 2F
CH,CH,COOH T
936/6,900/KI 160 [P



(b}  How does Glycerol react with oxalic acid at 353 K 7 ]
(¢} Unlike ethers, epoxides are highly reactive. Give suitable
gxamples. 24
3. {a) Give the mechanism of acid catalysed ring opening of
epoxides. 2

(b) Why phenols are more acidic than alcohols ? Explain.
2
{¢)  Why phenols do not undergo substitution of ~OH like
alcohols 7 2
4. {a) Discuss the mechanism of (a) Claisen Rearrangement.
(b} Reimer Tiemann Reaction. (2+2=4
(b)  What happens when (&) Phenol undergoes Koibe's
reaction, (b) Phenol reacts with zine dust ¢ (1+1=2)
5. (a) What happens when 2.3-dimethvl-2,3-butanediol is
freated with sulphuric acid ? Give the reactions and its
mechanism, 4

tb)  Discuss the effect of substituents on acidity of phenols.

;

SECTION-B
6. {(a) Whai is Nucleophile eyl substitonon 2 Give s
mechanism,
{br  Carbon-oxygen bond length i tormie acid me 1.23A
and 1.31A while in sodwm lormate ihe value 1x 1774
Explain 3
03669001160 7

(c)

(b

3. (a)

{hy

9. {a)

How will you prepare Pentanoic acid from Malonic
ester 7 2

How will you distinguish between the given pair of
compounds with the help of U.V, spectra : P

(Yl ans ===

The U.V spectra of acetone shows two important peaks
at A 279 nm and 189 nm. Identity electronic transitior
for these peaks. ;

Using Woodward-Fieser rule, calculate the value of A nas
for the given compound : p

) @ﬂ

Benzoic acid ts weaker than tormic acid but strongel
than other aliphatic acids. Explain. g

Detie and explam the tollowing :
(1) Hyperchronnc shitt,
(11} Auxochromes. 2

Discuss briefly -5 % and 7 —> nt* electronic transition:

-

which take place in UV region, z

Explain why UV spectrum consists of bands and not o
peaks, z

936/6,900/K1)160 3 [P.T.O
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GSM/D-18 940
BOTANY
(Biology and Diversity of Seed Plants-)
Paper-1
Time ; Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select two questions from each unit. All questions carry
equal marks.

Compulsory Question

1. Define the following :
(a) Anemophily,
(b) Diploxylic.
(c) Embryo.
(d) Fossil.
(e) Gametophyte.
(f) Monopodial.
(g) Mpycorrhiza,
(h) Siphonogamy. (1x8=8)

UNIT-I

2. Attempt all the following :

(a) Arrange the following in chronological order starting
from the oldest :

Mesozoic, Palaeozoic, Cenozoic.
940/2,700/KD/164 [P.T.O.



QI

(b) Arrange the following in accordance to duration of time
starting from the longest :

Period, Epoch, Era.
{c) What is the probable age of origin of the Earth ?
(d) What is the probable age of origin of Life ?
(2+2+2+2=8)

Describe the process of fossilization and importance of fossils.
8

Classify Gymnosperms according to Pilger and Melchior's
system of classification. 8

Give a concise account of the morphology and reproductive
organs of Cycadeoidea (= Bennettites). 8

UNIT-II

Write on the following :

(a) At what celled stage pollination occurs in Cyas and
Pinus 7 (name these cells)

{b) Structure of pollen grains of Pinus and Ephedra.

(c) What is the number of cotyledons in the seeds of Pinus
and Ephedra ?

(d) Seeds of a Gymnosperm represent three generations.
Elaborate it. (2424242=8)

Give diagrammatic life-cycle of Pinus, 8

940/2,700/KD/164 2

Write on the following :
(a) Bulbil of Cycas.
(b} T.S. root (corolloid) of Cycas (Diagram only)

(¢) Economic importance of Cycas. (3+3+2=8)
Write in brief on the following :

(a) Reproductive structure of Ephedra.

(b) Primitive Angiosperms. (4+4=8)

940/2,700/KD/164 3



Roll No. ..o Total Pages : 2

GSM/D-18 941
BOTANY
(Plant Anatomy)
Paper-I1
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select two questions from each unit. Draw relevant
diagrams wherever necessary. All questions carry equal
marks.

Compulsory Question

1. Define the following :
(a) Ephemerals.
(b) Halophytes.
(¢) Stratification.
(d) Bark.
(e) Ring Porous Wood.
(f) Trichomes.
(g) Isobilateral Leaf.
(h) Velamen. (1x8=8)

UNIT-I

2. Describe the various components of Phloem. Explain with
suitabie diagrams. 8

941/2,700/KD/165 [P.T.O.



Write short notes on the following :

(a) Sclerenchyma. 3
(b) Structure and functions of Cambium. 5
(a) Differentiate between Tracheids and Vessels. 3

(by Draw well labelled diagram of T.S. of a Monocot stem.
5

What is Anomalous secondary growth ? How does it occur in
Boerhaavia stem 7 8

UNIT-II

(a) What 1s Phyllotaxy ? Describe various types of
Phyllotaxy. 4

(b) What is the difference between a Simple leaf and a
Compound leaf ? 4

What is Stomatat apparatus ? Discuss its morphological types.

8
Write short notes on the following :
(a) Histogen theory of Root apical meristem. 4
(b) Parts of a typical root. 4

What are Respiratory roots ? Discuss the anatomical features
of Pneumatophores in Rhizophora. 8

941/2,700/KDV/165 2
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GSM/D-18 942
ZOOLOGY
(Life and Diversity of Chordates-I)
Paper - 1
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting rwo question from
each from Section-A and Section-B. Question No | is
compulsory. Support your answer with neat and labelled
diagram(s) wherever necessary.

(Compulsory Question)
1. Explain the following in about 20 words each :
(a) Cephalochordates,
{b) Retrogressive metamorphosis.
(¢} Wheel organ.
(d) Buccal funnel.
{e) Intestinal bulb.
(f) Cycloid scales.
(g) Pineal eye.
(h) Anadromous migration.
(i) Solenocytes,
(j) Dorsal wubrecle. {10x1=10)

942/2,800/KD/206 [PTO.
1112



SECTION-A
2. What are chordates? Give an outline classification of
Chordata upto subphyla. Discuss the various theories of
origin of Chordata, (7.5)

3. Give an account of the blood vascular system of Herdmania.
(7.5)

4, Describe the digestive system of Branchiostoma. (7.5)

5. Write short notes on the following :

(a) Hatscheck's nephridium. 3.5

(b) Pharynx of Herdmania. 4)
SECTION-B

6. Discuss the digestive system of Labeo in detail. (7.5)

7. Write short notes on the following :

(a) Fish fins. (3.5
{b) Ammocoetes larva, (4)
8. (a) Explain swim bladder of Labeo. (3.5)
(b) Write a short note on parental care in fishes. 4)

9. Give an account of habitat, habits and morphology of
Petromyzon. (7.5)

942/2,800/KD/206 2
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GSM/D-18 943
ZOOLOGY
{Mammalian Physiology-I)
Paper-II
Time ; Three Hours] {Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select rwo questions from each section.

Compulsory Question

1. Explain the following :
(a) Absorption.
(b) Disulphide bond.
(c} Homopolysaccharides.
(d) Enzyme.
(e} Facilitated diffusion.
(f)y Scurvey.
(g) Single muscle twitch.
(h) Osteoblasts.
(i)  Arthritis.
(j) Prosthetic group. (1x10=10)

943/2,800/KD/166 [P.T.O.
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2. (a)
(b)
3. (2
(b)
4. (a)
(b}
5. (a)
(b)
6. (a)
(b}
7. (a)
(b}
8. (a)
(b)
9. (a)
(b)

SECTION-A

Explain the structure of primary and secondary proteins.

What are Globular and Fibrous proteins ?

Give an account of Active transport.

Write a note on Endocytosis.

Discuss Cholestercl and its derivatives.

Give classification of enzymes.

Explain Tunnel proteins of membranes.

Briefly discuss Active sites.

SECTION-B

Give a detailed account of Symbiotic digestion.

Explain Assimilation.

Discuss Digestion of proteins.

Explain different types of Feeding.

Describe ultra-structure of striated muscles.

Give an account of muscle contraction.

Discuss different types of bones.

Give detailed account of bone growth,

943/2,800/KD/166 2
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GSM/D-18 948
COMPUTER SCIENCE
(Data Structures)
Paper-1I
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. ! is compulsory.
In addition to compulsory question, attempt, four more
questions selecting exactly one question from each unit.

(Compulsory Question)

1. (&) What is the need of data structures?
(b) Name various operations that can be performed on
strings.
{c) What do you mean by a sparse matrix? Explain.
(d) Define advantage of using header linked list over
simple link list.
{e) Comment on the need of a priority queue,
(f) Explain complete binary tree in brief. (8)
UNIT-I
2. Define strings. Explain various methods of storing string in
computer memory. (8)
948/2,700/KD/207 [PTO.
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What do you understand by complexity of algorithms? How
can you find complexity of algorithm? Explain with suitable

examples. (8)
UNIT-II

Write down an algorithm to insert an element in a linked list

at the beginning and after a given node. (8)

Differentiate between following :
(1) Array and Linked List
(i) Singly Linked List and Doubly Linked List. (8)

UNIT-III
What do you understand by Queue? Explain various
operations that can take place on a queue using any one
representation. (&)

Write algorithms to evaluate an expression in postfix notation
using stacks.

(8)
UNIT-IV
What is a binary tree? Explain various traversal methods on
a binary tree using suitable examples, (8)
Explain following terms w.r.t. Graph :
(a) Graph
(b) Multigraph
{c) Adjacency matrix
(d) Path matrix, (8

948/2,700/KD/207 2
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GSM/D-18 950

COMPUTER SCIENCE
(Software Engineering)

Time : Three Hours] [Maximum Marks : 40
Note : Attempt five questions in all, selecting at least one question
from each Section. Questions No 1 is compulsory.

All questions carry equal marks.

Compulsory Question

1. (a) Write the phases of software development? (2)
(b) Define the term cohesion (2)
(¢} What do you mean by system testing? (2)

{d) Define team structure in software project planning.
(2)

UNIT-I1
2. Explain Water fall Model in detail and also explain the
advantages and disadvantages of Water Fall Model of
software development. (8)

3. Explain the software crisis problems and causes in the
software industry. (8)

950/2,700/KD/209 [P.T.O.
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UNIT-II
What are the steps involved in software requirement
analysis? Explain the various tools involved for information
gathering. (8)

Write short notes on the following :
(a) Cohesion and coupling.

(b) Information gathering tools. (2x4=8)
UNIT-III

What is DFD. What are the symbols used to draw a DFD.

What are the rules for drawing a DFD? (4

Explain the term cost estimation also explain COCOMO

model and what are its various strategies. {4
UNIT-IV

What is software testing? What types of errors unit testing

attempts to find? Explain in detail. 4y

Discuss the various types of software maintenance what
are the ways of reducing the need for software maintenance.

(4)

950/2,700/KD/209 2
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GSM/D-18 952

COMPUTER APPLICATION
(Web Designing Fundamentals)
Paper-I1

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory,

(f)

2, (a)

(b)

Select one question from each unit,

Compulsory Question

What is the difference between Intranet and Internet ?

What is the difference between HTTP and FTP ? 1

Define Home Page. 1

Define various types of HTML elements or tags. 2

What does the Alt attribute do ? l

How can you prevent Frame Resizing ? 2
UNIT-I

Explain various services or applications of Internet. Also
explain its disadvantages. 4

Differentiate between Web Server and Web Browser.
4

952/450/KD/171 (P.T.O.



3. (a) Define how Search Engine works. 3
{b) What is Web casting ? Also define Web casting
techniques. 5
UNIT-II
4. (a) What are the features of a good website design ? Also
explain various principles of web design. 5
(b) Describe briefly the Web publishing tools. 3
5. (a) Define ISP. What are its features ? Also explain various
factors considering while selecting an ISP, 5
(b} Explain various steps to host your website. 3
UNIT-III
6. (a) State the features of HTML documents, 2
(b) Explain <Font> tag and its various attributes, 3
(¢} Explain Movement of text. 3
7. (a) Explain the steps of internal linking by using example.
4
(b) Write short note on Page layouts. 4
UNIT-1V
8. (aj Explain various types of lists available in HTML. 5
(b) What do you mean by Rowspan and Colspan attributes ?
3
952/450/KD/171 2

@'

(a) How can you set Frame Margins ? Explain with example.

4

(b} Explain the purpose. syntax and example of Text field

and Radio Button field.

952/450°KD:171 3
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GSM/D-18 954

COMPUTER APPLICATION
(Database Management System)
Paper-I]

Time : Three Hours) [Maximum Marks : 40

Note : Question No. | is compulsory. Attempt four more questions
selecting one question from each unit. All questions carry
equal marks.

Compulsory Question

1. Explain the following :
(a) Tables.
(b) Records.
(c) Entity sets.
(d) Disadvantage of DBMS. (2x4=8)

UNIT-1

2.  How Traditional file system 1s different from DBMS 2 8

3.  What is the role of DBA ? 8
UNIT-1I

4. Explain Schema and Subschema. 8

5. What is Client server architecture ? 8

954/450/KD/172 [P.T.O.



UNIT-1I
6. Compare and contrast various types of data models.
7. Explain Object based data model.

UNIT-1V
8. How RDBMS is different from DBMS ?

9. What is Network data model ?

954/450/KD/172 2
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GSM/D-18 960
BIOTECHNOLOGY
{Immunology)
Paper -VI1
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Question No. 1 and four others, selecting two
questions from each Unit.

Compulsory Question
1. Explain the following in brief :
(a) Null cells
(b) Affinity of Antibody
(¢) Epitopes
(d) Types of antigens
(e) Cytokines
(f) Immunological tolerance
(g) Antigen presenting cells
(h) Hypersensitivity. {8x1=8)
UNIT-1
2. (a) What is innate and adaptive immunity and what are
their features? (4)
(b) Describe primary lymphoid organs of the immune
system. (4)
960/900/KD/213 [FTO.
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(a)

(b)

(a)

(b)

Explain the functioning of different cells in immune

system, (4)
Draw the structure of antibody and explain the functions
of different classes of antibody. (4

Write short notes on the following :
{i) What are haptens and how can we increase
immunogenicity?

(ii) Antibody production and diversity generation.
(2x2=4)

Differentiate between the following :

(i) Precipitation and agglutination reactions.

(i) RIA and ELISA, {2x2=4)

UNIT-1I

Discuss in detail about the primary and secondary humoral
imniune response giving an account of differentiation,
maturation and activation of B cells. (8)

(a)

{(b)

What are the different factors responsible for

autoimmunity? (4)
Write briefly about generation of cell-mediated
immune response. (4

Write short notes on the following :

(a)
(b)
(S
(@)

Structure of class I MHC molecules.
Difference between inactivated and attenuated vaccines.
Flowchart of classical pathway of complement system.

Recombinant vaccines. (4x2=8)

960/900/KD/213 2
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GSM/D-18 961
BIOTECHNOLOGY
(Molecular Biology)
Paper : VII
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting fwo questions from
each unit. Question No. | is compulsory.

Compulsory Question
1. (a) Enlist any two differences between B-DNA and Z-DNA.
' 1
(b) What is the role of DNA ligase in DNA replication ? |

{c) Two DNA samples A and B were found to contain 30%
and 50% GC content, respectively. Which of these is
more stable and why ? ]

(d) Which organelles in a human cell contain DNA ? 1
(e} Elaberate the terms : Transduction, Attenuation,
Degenerate genetic code and Promoter. 4

UNIT-1

2. (a) With the help of a labelled diagram, highlight the salient
features of the Watson and Crick double helical model
of DNA. 4

961/900/KD/174 [P.T.O.



(b) Describe the Hershey and Chase experiment to prove
that DNA is the genetic material in bacteriophage T?2.
4
3. {(a) What are transposons ? Who discovered these ? Explain
the transposable genetic elements of maize. 4
(b) What are point mutations ? How are these caused ?
Discuss giving at least two examples. 4
4. (a) How is DNA replication initiated in prokaryotes 7 4
(b) Highlight the cause of DNA damage. Describe any rwo
mechanisms of DNA repair. 4
UNIT-I1
5. (a) How was the genetic code deciphered ? 4
(b) Differentiate between induction and repression. 4
6. (a) Define Catabolic repression and explain its mechanism.
4
(b) Discuss any one of the following :
(i) Post translation modifications
(ii) Inhibitors of transcription. 4
961/900/KD/174 2

QC

Write short notes on any rwo of the following :

(a)
(b)

(©)
(d)

Homologous recombination.

One cycle of elongation of polypeptide chain synthesis
in prokaryotes.

Initiation of transcription in eukaryotes.

Gene splicing and generation of mature mRNA. 4, 4)

961/900/KD/174 3
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GSM/D-18 976
fedy (efard)

Time : Three Hours] [Maximum Marks : 40
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T U T ITEdt 5, PeAfafes swe = ® o fafagn

I A AR W @ wa # (i) Alloy.
e @ '@ TR (ii) Diffusion.
7 I b AW 4 (iii) Endothermic.
il il o (iv) Hybrid.
FoeER u7a 3 (2x6=12) (v) Freezing.
(vi) Equivalent.
2, Bfeeire TR orgEr yhE Brodt e’ w aftfgs (vii} Coefficient.
=g fafam) 6 (viii) Formula.
(ix} Convex.
3, Pfafas & ¥ F ©& oy w e fafag . (x) Extraction,
(F) dvdwo @R faam
(@) A T
(M foam #ir s
(%) AMaEfywr
(T) =) 8

4 TU B T X UHA F T A ® oy e afiEeA
fr ® vEE F U 9y fEfag

YA

IF IF @ TR T g W 0w a9 ¥ @ yww w5
T3 fafEm 9
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6. I3 feg vadsdt Feet o JFet wisee fag

(it  Disk {ii) Electrical

{iii) Drive (iv) Data

(v} Click {vi) Backup

(vii) Bar (viil) E-mail

(ix) Format (x) Input.
977/1,500/KD/123 4
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977

GSM/D-18
PANJABI (Compulsory)

Time : Three Hours] [Maximum Marks : 40
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Gy T + I GSM/D-18 978
(i) IR + @ SANSKRIT (Compulsory)
i) T o+ R
Time : Three Hours] [Maximum Marks : 40
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GSM /D-18 S
NUTRITIONINLIFECYCLE
Paper—Course No. 201 .- .. -
Time allowed : 3 hours] [Maximunt marks ; 40
Note ;- Question No. 1 is Compulsory. Arwempt rotal five

e -

questions, selating at least two questions from each unit.
All question carry equal marks.

597 gegr-1 afyard &1 g7 919 997 #, 900F s ¥ &
& &7 & %7 oy g | T qeT B o T &

Compulsory Question {Ff¥ard n..ﬁ.v |

1. Define any eight of the following:
Frefafed & @ B8t e @ oty &t

@

(ii)

(iii)

(iv)

™)

(V)

Infancy

B\ EL|
Weaning
I FRR
Bottle feeding
S W g”
Adults

C [
Lactation
T B WE 9 B B e
Old age

g

1154
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v

(2)
(vii) Nutrition
Oryor & 4
(viii) Sedentary wash
AT
(ix) Aduttwoman
S

Unit1I (FFE-1)

. What arethe various principles underlying meal planning?

%@A%wwﬁﬂaﬂ_ﬂﬁiﬁ_% |

. Whatdo woc think is the best bottle feeding or breast feeding?

Why? What are the advantages and disadvantages of both?

T T G ¥ O SO 6 & A S | 39 R F/ie
AT B - A O a8

. Selectany two of the following for writing short notes:

i & R 3 e Prafifed § & B @ @ eE At
(i) Weaning foods
Il SR |
(i) Nutrition for pre schoolers
e 9 | @ w T
(i) Nutritionininfancy.
qreraE § QT

. Whatpoints will you keep in mind while planning diet for a school

moEmosm%UmwocmmﬁaoEoBmmwo&_uwﬁﬂsma m_mom?nﬁom_.
putritional requirements. :

1154

(3)

ﬁ%aﬂg@ﬁww@a%g@ﬂﬁwmﬂ%fﬁﬂ
s @ e R o w o ardl aTenel & e &
o O ) & Sfe TEfad W S §

Unit-11 (3%1-11)

. Define adultman, Give nutritional requirements for heavy,

moderate and redentary worker.

ares qey B oA AR | g, qe au il o A a9
T T6¥ B Tk ] @ IR AR A @ @R

. What are the various physiological changes taking place during

pregnancy?
e 3§99 f-ae & arifits ey e B

. Give requirements for food and nutrients during lactation.

qr Hfzen ® fU ofeR Ud Qe 3 SEead S A |

. Write short notes on the following.

Pt @ wdg I feay fod-

(i) Problems faced by older persons.
raeen § AR avch weE !

() Nutritionduring pregnancy.
T 3 QT

us4y
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Write short note on the following : Printed Pages : 4
()  Roleoflinesincreating illusions GSM/D-18
. o e INTRODUCTION TO CLOTHING
_o_v Preparation of fabric before marking oanm 2x4=8 | CONSTRUCTION
Preforf ox dfr F Rl A Paper—Course-202 Opt. II
() Yarl @ gfe-wm ¥ FHEA Time allowed : 3 hours] [Maximum marks : 40
(i) e w R FEd § @ # faly 2x4=8 Note :  Attempt five questions in all, selecting two questions

from each unit. Question No. 1 is compulsory. All

questions carry equal marks.

e : g% R @ AE B 9T W §T 7 W 4 B T
A ge wer | afvard ¥y @ gt @ ofF @I &

Compulsory Question
Ffvad 5
1.  Explainbriefly the following: 1x8=8

() Vegetable fibre

(i) Thermoplastic fibres

@) Simple Yarns

(iv) Tracing wheel

(v) Basicblock

() Scissors

(vii) Ironing Board
(viii) Silhoutte.

1155 1155 | | [P.T.O.




(2)
Frfafas o &9 & feaei AR
) TR g
@ a-gea T
(i) T
(v) i@ =
(v) TERET g
(vi) e
i) A
(vi)) Perae
Unit-I (gz-1)
With the help of diagram explain about the cquipments used in
clothing construction. 8
Rt # e & oo ¥ wgE A A IR B ar &
| 8
Draw a well-labelled diagram of sewing machine and explain
its parts. 8

e "l 1 RE o o 9es ffwm smt @ oas
T | 8

Write about the common faults of sewing machine, their causes

and remedies in detail. 8

1155

(3)

e A B <, 9B 0T T T G F B IUA W T
S/ 8

Suggest, how the life of sewing machine can be increased and

what are effects of improper care ? _ 8

e o & @9 998 0% U S H Ry Fod T

HA 7 8 | guiom & et Hf) 8
Unit-1I (F-11)

Define clothing. Can life be possible without clothing,

aomoa.vn@. T 8
FEl’ { T T TG & O 7 3 & fiew #F Fwea B
o H@EAl 8, Ut o T 8

Explain the role of principles of design in dress making in
detail. 8

qfte T § el 3 BE ® arEH S ] § g9 8

What are the different methods of developing adesign ? Explan
abou paper pattern and write its advantages and disadvantages
also. 8

fomit Bl w0 % R @ A9 @ ¥ ww gien

oo Yot R 3 i § P § o=t At o IS amw AR
wFEt o sty &) 8
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Printed Pages: 3 1156
: GSM / D-18
FAMILY DYNAMICS
Paper—Course No.-203

Time allowed : 3 hours] [Maximum marks : 40

Note :- Artempt five questions in all, by selecting two questions
from each unit. Question No. 1 is Compulsory. All
guestions carry equal marks.

e - 7OF sE § @ 997 g0 5T 9 99 5w o) Je
gear-1 gt &1 @l ge 7 & o g 8

Compulsory Question {SifaH 7¥)

1. Answer the following in 3-5 sentences. 8§x1=8

| Pyefafgg & 9 @ O AT sE de)
(i Tribal Endogamy
gl '3 faamE
(i) Maternal Mortality
g YR

(i) Write the main function of mamage.
Rrare @1 e w1 fafaw |
(iv) Meaning of Legal separation.
N T w w27
(v) Safe Period during reproductive health.
e R & A GRS |
(vi) What do youmean by population Dynamics?
SrERE ¥ Tadiar 8 ST F A &7

1156 _ Q:E_n:@. -




(2)
(vii) Literacy rate of women in India.
AT F Hiea ORRd |
(viii) Media Boom
difear ¥ dwEesl %1 I8
| Unit-1 (5%7-1)
3. Define family. Explain various types of families. 8
e & aRa ST oftEr & R TR @ Ao i

3. Define marriage. Discuss various functions of marriage in detail. 8
frere’ B o Afm) e @ = B Rga o SR

4. What do you understand by "Media Boom"? Describe its
purpose and advantages. 8

fhfaar # eraaral @ e (Media Boom) & ST T TS 87
T Il T GRE v Bl |

5. Describe the changing face of Indian family with regard to legal

separation, divorce and death of one of the spouse. 8

i TER AR & A S, T Sl U e A Iy
TS F-FT gEE AT §, AT BT

Unit-11 (zrE-10)

6. Why Family Planning is important? Describe various factors
affecting it. 8

%%ﬂnﬁﬂ%ﬁ&ﬂ@mﬁwﬁ@iﬂ%
&R |

1156

(3)
. What is population policy of India? Describe its main features.8

o § o gl SR w ¥ e ge sad & 9o
I |

Explain the idea and main purposes of New Economic Policy
and Liberalization. 8

7 onffe iy vd gEriET & RER o R & o A

What do you understand by Reproductive Health? Discuss
various components of reproductive child health programmes n
India. 8

TSR T ¥ ST 897 ST B? WRE § SO 9 S
Frerall’ & Rt orgaar @ & Hif )
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GSM /D-18

HOUSEHOLD EQUIPMENT AND CONSUMER

PROTECTION
Paper—Course No.-204

Time allowed : 3 hours] [Maximum marks : 40

Note ;-

7T -~

Attempt .\_mcm questions in all, by selecting at least one
question from each unit. Question No. 1 is Compulsory.

All questions carry equal marks.

g% TFE T @ F9 & # QF 597 I 999 0 5T, &I U
geft @ gar fre ) gy qem-1 At &1 g 99 ® HE
g &1

».

Compulsory Question (FiFar 1)

1. Answerthe following briefly: 4x2=8
Preffa a1 st & v B |

®

(i)

Rights of Consumer
Jueigar & SRR
Guarantee

Y

i) Contract of Sale

foera # argdy

{iv) Creditbuying

I W gl

1157
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(2)
Unit-I (371
2. What consideration are taken while purchasing the household

equipments? 8
T FCN B TR T R By ¥

3. Givethelist of equipments used in kitchen. Explain the care and
use of these equipments. 8

@wmw&ﬁﬂﬁiiﬁm@&@fﬂﬁﬁ&&wﬂ
T A I @ s g¥

4.  Describe the type of equipments used for recreation. Discuss
tips for care and storage of these equipments, 8

%&?%ﬂgﬂiwgﬁ%ﬂ_ﬁ
qi@g%ﬁﬁﬂwg?wmvﬁ%ﬁ_

5. Discuss the advantages and disadvantages of electric equipments
over hand operated equipments. 8

ﬂm@ﬂ@m%&ﬁwﬁ%wiwﬂw%%
TR == B

Unit-IT (F#E-11)

6.  What is consumer protection? Discuss the mmonoﬁm for consumer
protection. 8

ﬁ&ﬁmﬁﬂﬂ%ﬁ&ﬁﬁmﬁw@m%ﬂm&ﬂ_

7. What do you mean by standardization? Discuss various
standards. 8

ﬁﬁﬂa@%ﬁﬁﬁﬂ%wﬂ%ﬂﬂ&ﬂﬁﬁ_

1157

8.

(3)
Discuss the problems of consumers and its solutions, 8

TR B enenell R I gEME T e 1)

What is the role of government of India for the Welfare of
Consumers? 8

ﬁ&ﬁ%&ﬁﬂﬁwmﬂﬂmﬂ%&%ﬁﬁ%
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GSM / D-18
EDUCATION-1
Paper—Course No. 203

Community Development and Extension
Education

Time allowed : 3 hours ] [ Maximum marks : 40

Note: Attempt five questions in all, by selecting two questions
from each unit. Q- No. One is compulsory. All questions
carry equal marks.

e iﬂﬁ&m%ﬁumﬂﬂ%&ﬂﬁ%&%&@au
ﬁﬂmﬁzﬂ%ﬂﬁw;&ﬂ%%&ﬂﬂﬂ%

Compulsory Question (¥R ¥H)
1. Answerthe following in 3 to 5 sentences. - 8x1=8
By & & @ O 4l ST i |

G) Open Society
o q

(i) Patriarchal family
e afar

@ity Name five audio video means of communication.
dfe gga Ha WA B e & A e

(iv) Semantic language barriers in communication
e & e g SR A

s

(v) Differentiate between absolute and relative poverty.
o i o e P P
(vi) Target group of IRDP
(T osTodiodlo) RHIFT Ty ferd o H R W

1158 [Tunove




(2)
(vit} 'Annpuma’ - s aims.

-5 TG
(vt} Main functions of NREGA
AN & G o |
Unit-{ (3E-1)

What do vou understand by Social System? Describe its
characteristics. 8

AR FEE § oMU F A 27 3w Rdwaet 1 oaviw
T |

3. Describe the meaning of family. Classify family on the basis of
marriage size and authority. 8

ofaR & avE a1 o 27 ‘Rram, e ud IR &
SR ¥ YRE & gl SHif |

4. Explain various factors influencing effective communication. 8
FE @t & g & gl aw B-ae @ 87 aredn s
5. Define noBEEmommoP Describe its importance. 8
aR P ot 3 g, TP AST F AON BT
Unit-II (zF§-11)
6. Explain various causes of poverty in our courtry. 8

g 2w & i B Rf FRel & av Akt

1158

(33

7. Describe the Aims. objectives, beneficlaries, svvaniages and
feedback of ICHS programme. 8
A @i faEw dern @ IgEeE wded, aedl, 9w od
TR o I |

8. Explain the objectives and functioning of District Rural
Development agencies. 8
Ry i R G & 9edvd wd RrreTel 1 avid s

9.  Write notes on following: 332

frforttes ov feaelt fora:

(2) Poverty measurement ..
TR # e

(b) Objectives of TRYSEM
HECEIEAE

(c) Evaluation of SNP

THoTAodlo & JRAiHA

1158
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-BCA/D-18

OBJECT ORIENTED PROGRAMMING

USING C++
Paper-BCA-231

Time allowed : 3 hours] [Maximum marks : 80

Note : 4

candidate will be required to answer five guestions in

all, selecting one question from each unit in addition to

compulsory Question No. 1.

Compulsory Question
1. (a) Differentiate between Call by Value & Call by
Reference.
(b) Differentiate between Object Oriented Programming &
Procedure Oriented Programming.
(¢) Explain Inline Function ?
(d) Explain Default Constructor. 4%x4=16
Unit-1
2. (a) ExplainScope Resolution Operator and its significance
with example. 8
(b) What do you mean by Static Member functions ? How
can you access it ? Explain it by giving example. 8
3. Write short note on following : 16
(a) Encapsulation
1229 [Turn over




(2)
(b) Class and Objects

(c) Static Datamembers
(d) Nested Class

Unit-11
Explain Constructor Overloading and constructor with default
arguments by giving example ? _ 16
(a) Explain the formatted I/O Operations ? 8
(b) What is the difference between Copy constructor &
Parameterized Constructor 7 8
. Unit-III
Explain the following: . 16
(a) Stremp()
(b} Strien()
(¢) Strrev()
(d) « cuprQ
(a) What is a Pointer ? Illustrate with example ? 8
(b) Explain New operator with example. -8
Unit-IV .

What is Operator Overloading ? What are its rules 7 Write a
program to overload Binary (+) operator. _ 16

What is Function Overloading ? What are its benefits ? Explain
it with example. 16

1229
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BCA/D-18
DATASTRUCTURE
Paper-BCA-232
Time allowed : 3 hours] [Maximum marks . 80

Note : A candidate will be required to answer five questions in
all, selecting one question from each unit in addition {o

compulsory Question no. 1.
(Compulsory Question)

1. (a) Whatis the difference between Full Binary tree and

Binary tree ?
(b) Explain the concept of Priority Queue.
(¢) Differentiate between Data Type and Data Structure.

(d) Explain overflow and underflow condition.
Unit-I

2. (a) Define Data Structure. Explain the categories of data

structure. 3

(b) How we can calculate the complexity of an algorithm

and time space trade off ? 8
3. (a) Whatare Strings ? Explain the various methods to store
strings in memory with an example.

(b) Explain Second Pattern Matching Algorithms by giving

example ? 16

1230 . [Turn over




(2)

Unit-I1
(a) How a two dimensional array represents in memory ?
Explain with examples. 8
(b) M is a two dimensional array with 10 rows and 10

columns i.e. M [1:10,1:10]. 8

What is Linked Lists ? How it represents in memory with
example ? Write an algorithm for traversing a linked list ?
16

* Unit-IH

(a) Whatis Stack ? Explain the operations on Stack ? 10

(b) Evaluate the following Postfix Expression
E=8,7,20,% 15,3,/ - 6

{(a) What is Recursion ? Write the recursive and itcrative
algorithm for finding the factorical of anumber N. 8

(b) What is Queuc ? Write an al gorithm to delete an element

in the queue, . 8
Unit-IV
What is Graph ? How it is represented in Memory 7 16

What is Tree Traversal ? Explain all the trec traversal

algorithm using the concept of recursion. 16

1230
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Time allowed - 3 hours]

1231

BCA /D-18
COMPUTER ARCHITECTURE
Paper-BCA-233

Note : Attempr Jive questions in qlf selecting one question Jrom

cach unit. Question No, ] is compulsory.

L. (a) Describe various types of CPU registers.
(b) Describe the advantages and disadvntages of micro
programmed contro|.
{c) What is the principle of hardwired control ?
(d) Explain IOP.
Unit-1
2. _mmv Explain various approaches of control unit des; gn and
its implementation.
{b} Explain fetch and €Xecute operation for a direct lype
instruction of your choice.
3. (a) Explain various components of the control unit of basic
computer,
(b) Discuss various memory references and register
references instructions.
Unit-1
4.  What do you mean by micro operations 7 Explain various
types of' micro operations with its hardware implementation.
1231 .7 (Turn over

[Maximum maris o 80

(2)

An 8-bit register contains the binary value 10010110, What
is the register value after following operations:

(a) shiftright
(b) shiftlefi
(c) circular shift right
{d) circular sHift left

Unit-IIT

(a) What do you mean by instruction format ? Describe
various types of instruction formats with suitable

examples.

(b) What do you mean by stack ? mvmw_mm: various operations
on it.

(a) Write assembly lan guage code for I's and 2's compliment
addition of 2 binary humbers.

{c) Expiain bus organization for various CPU registers using
diagrams.
Unit-IV
Describe various data transfer techniques.
(@) What do you mean by auxiliary memory ? Explain its
hardware implementation.

(b) Explain the concept of virtual memory.

1231
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BCA/D-18
SOFTWARE EN GINEER™G
Paper-BCA-234

Time allowed : 3 hours] xaam..a?:, IRV

Note : Question No. 1 is compulsory. Attempt any four other

questions, selecting at least one question Jrom each unit.

Compulsory Question
1. (a) State two advantages of spiral model. 3x2=16
(b) List the symbols used DFD.
(c) What is software metric ?
(d} Distinguish between Alpha and Beta testing,.
(e) What types of faults are detected by integration
testing ?
(f) Distinguish between implementation and maintenance,
(g) Whatis the importance of software project planning ?
(h) State any two factors of quality assurance.
Unit-1
2. Discuss different phases in SDLC model ? Explain with
diagram Prototype and Spiral models in detail. 16
3. (a) What is Software Engineering ? Discuss different

(b)

1232

characteristics of software and hardware. 10

What do you understand 3 software crisis ? Write a
detailed note on the factors responsibie for software
crisis.

[Turn over
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BSIT/D-18

MATHEMATICAL FOUNDATION OF
INFORMATION TECHNOLOGY-III

. Paper—BSIT-301
Time allowed : 3 hours] {[Maximum marks . 40
Note :  Attempi five questions in all, selecting one question from
each unit. Question No. 9 is compulsory.
Unit-1I

1. (@ Inasinglethrow oftwo dice. Find the probability that

neither a doublet nor a tota] of 9 will appear. 4

(b} A problem in Mathematics is given to three students

whose chances of solving the problem are Mw 1 and 1 .

2°3 4
What is the probability that the problem is solved ? 4

2. (& Inaboltfactory, machines A, B & C manufacture 60%,
25% and 15% respectively of the total of their output
1%, 2% and 1% are defective bolts. A bolt is drawn at
random from the total production and found to be
defective. From which machine, the defective bolt is

expected to have been manufactured ? 4

(b) Let A and B be want and associated with a random
experiment. Prove that the events A and B are
independent iffP (A N B)=P (A).P(B). 4

12670 [Tum over
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BSIT/D-18 12671
ELECTRONIC CIRCUITS AND NETWORK THEORY
Paner - BSIIL300

uee Hours| LMaxionun Marks - 50 4.

Note 1 Al

froe quiestions 1 all, selecting one goestion

cach wnit (T 1V, Question No. 1 s compulsery.,

Compulsory Question 3
Lo (@) Common eniiticr amplifier is most widely used.
Comment. ()
(by  Distinguish between SSILSL MST and VLS]? {2
(©) List wdvantages of ICs over diserete COMponents 6.
LY
N tie” 21
(di Justity the weed of high sulue of CMRR for o
amplifier. (2 7.
UNIT-1
2. (&) Define 7 sarameters of a two POrt netw otk (4
{h) ¢ H purameters of the setw ork shown below,
I rosistances are of 2 ohy {4
Rl R
—— l\./( " \\/\. \/ ————
a 9,
e IW e ———a
12671/250/KD/1793 [PT.O

tal Compare three transistor amplifics configurations on
(he basis of voltage and current emn, input and ouwput
impedance. (
vy Ohtain expression for 20 !
ampiificr. (33

UNTU-H
toare letegrated Cirentts? Discuss the step by step

process tor fabricating a monolithic integrated circait by

weking a suitable example, [raw cross sectional view eiter

uch s, (&)

fay Explain tbe how epitavial Tayer is grown i LOS? (5)
ihy  IDiscuss dielectric isolation method used in [C

Fabrication. ()
UNIT-IIN

() Discuss how JFEDs are fabricated i [Cs. (0}

{hy  What are crossovers m 10872 (2}

Discuss different types of capacitors Sornwed in [

wilh their characteristics, ()

(by  Explain in briet the sieps required o tabricate an

integrated MOSFET. (+4)
UNIT-1V

sed double

B an exprossien
ted. Differenzial conplifier aind show menadont
QT drift, 3)

HLan Siytier oo

(v Discuss opamp i inverting contiguration and obtain
is gain. What 15 virtual ground?
4

(b Discuss opamp as difference amphifter. (4

an cxpression tor i

12671/250/KD/1793 2
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BSIT /D-18
TELECOMMUNICATION-I
Paper-BSIT-303
Time allowed : 3 hours] [Maximum marks : 40

Note : Attempt five questions in all. Select one question from

each unit. Question No. 1 is compulsory.

I. (@) Definelocal loop.
(b) Discuss the need of switching.
(¢} Why are smaller cell preferred in Mobile Phone System ?
(d) What are UNI and NNI in ATM ? 4x2=8§
Unit-1I
2. (a) Describe structure of Telephone System. 5
(b) What do you mean by Transmission Impairments ? 3
3. (a Whatismodem ? What is its use in telecomrnunication ?
4
(b) Diilerentiate between FDM and WDM. 4
Unit-1T
4. (a) Whatiscircuit switching ? Write short note on space division
switch. 4
(b) Differentiate between Tire division and Crossbar switch.
4
12672 {Tur over




(2)

5. DrawISDN system Architecture with PBX. Explain its working
and advantages. 8

Unit-TIT

6. (a) Discuss various generation of cordless telephone system.

4

(b) What are the security issues considered in the telephone
system ? 4

7. Whatis AMPS ? Explain its channels. 8

Unit-IV

8. (@) Describe Frame relay and its various layers. 4
(b) Explaindesign goal of ATM. : 4

9. Discuss various ATM layers in detail. 8

12672
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BSIT/D-18

MICROPROCESSOR ARCHITECTURE

AND PROGRAMMING-I
Paper—BSIT-304

Time allowed : 3 hours] _ [Maximum marks : 40

Note : Attempt five questions in all, selecting at least one
question from each unit. Question No. 1 is compulsory.

1. (@ Define STACK and STACK POINTER.
(b} . Compare SUB and CMP _
(¢)  Explain role of HL register pair in indirect instruction
(d) Explain HOLD and HLDA signals of 8085 micro-
Processor. 4x2=8
Unit-1
2. Discuss Architecture of SAP-II 8
3. {(a) Explain various addresing modes of SAPII. 4
(b}  The bits in a byte are numbered 7t0 0 (M.S.B to LSB).
Write a program that can input a byte from Port 2 and
determine bit 6 is zero or one. If the bit is 1, then load
FFH in Accumulator, otherwise load EEH in Accumulator
and send the result to Port 3. 4
| Unit-11
4 (@  Whatdo you understand by subroutine ? Explain the use
of stack pointer in calling a subroutine. 4
(b)  Write a program to subtrack 400 from 653. 4
12673 [Tumover




(@)
®)

(¢}

(@)
(b)

(@)
&)
©

(@)
®)

@
®)

12673

@

Explain the process of Handshaking. 4
What will be the contents of accumulator and flags after
the execution of SUB Bif A=CBH andB=AlH. 3
What is the role of LABLES in Assembly Language 71

Unit-IH
Draw and explain pin out diagram of 8085. 5
Explain XCHG and LDAX instrutions. 3
Explain timing and control section of microprocessor
8085. 3
Explain XTML and SHLD of 8085 3
Explain 10/ M, S, and 8, with reference to 8085. 2
Unit-TV
Explain Demnultiplexing ofbus. 2

What is the difference between software and hardware
interrupts ? Discuss software interrupts of 8085. 6

Explain Eland DI Instructions. 2
What is DMA ? Explain with the help of ablock diagram
how data is transferred by DMA controller. 6
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BSIT /D-18

COMPUTER PROGRAMMING WITH C-I

Time allowed : 3 hours]

Paper—BSIT-306

[Maximum marks : 40

Note : Attempt five questions. Q. No. 1 is compulsory. Select

one question from each unit.

1. (@
(b)
(c)
(d)

2. (a)
(b)
3. (@
(b)

(b)

®

12675

Write Bitwise operator used in C.

Differentiate moﬂow ()and getchar ()

Write example using break and continue statement.

What is type conversion, give example. 2x4=§
Unit-I

Write Character Set and Keywords in C.

Discuss Data Types available in C. 8

Write Syntaxes of Scanf and printf with example.
Discuss Escape Sequences. 8
Unit1

Write Relational and Arithmetic Operations in C.
Differentiate Nested -1G and FISE-IF Ladder. 8

Wnite note on Library functions in C.

Write 2 program to find whether a Number is Even or
Odd out of any 10 numbers. - 8

[Turn over

(b)

(b)

8. (@

)

(b)

12675

2

Unit-1I1
Differentiate Switch and goto using example.
Write a program using Switch statement to make a simple
calculator of any 4 functions. 8
What are various LoopsinC?
Write a program using Nesting of Loopsto find factorial
from2to 7. 8

Unit-1v
Write a program using 1-D Array to perform Bubble-
Sort
Write Syntax with example getche () and putchar () 8
Write a program to multiply
A[MN]*BI[N,L]
Write a program to perform Linear Search. 8
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BSM/D-18 16532

LITERATURE IN ENGLISH (1750-1830)
Paper : VI

Time : Three Hours] [Maximum Marks : 80

Note : All questions are compulsory,

UNIT-1
L. Attempt all shree short answer type questions in about 200
words each :
{a) Why are the stakes so high for Olivia's "abduction” in
the novel Vicar of Wakefield ?
OR
Write a note on the character of Sir William in Vicar of
Wakefield.
(b) Elaborate the speeches of Mr. Woodhouse which show
his character look foolish in Emma.
OR
Comment on the irony in the novel Emma.
(¢) Summarize the essay "In Praise of Chimney Sweepers"
by Charles Lamb.
OR
16532/400/KD/1612 [P.T.O.

11/12



Comment on the role of wealth in Lamb’s essay “Poor
Relations". (3x8=24)

Attempt any two essay type questions out of the given three from
Q.2t0 Q. 4.

2. How does the vicar change throughout the novel Vicar of
Wakefield?

3. Discuss the relationship of Emma and Knightley in the novel
Emma.

4. Highlight the contribution of Charles Lamb as an essayist.
(2x16=32)

5.  Write the characteristic features of the Second Generation of
Romantic poets. 12

OR

Comment on the Age of Sensibility

6. Write a note on the Agricultural Revolution. 12
OR

What were the major trends of Gothic Novels?

16532/400/KD/1612 2
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BSM/D-18 16562
FrERITF FIAFTE
Opt. : (vi)
Time : Three Hours] [Maximum Marks : 80

4. Prefafgs | W ® IW ST
(F) ‘T s W s fErEu
E%mﬁﬁ%ﬁ%ﬂmﬁﬂ&ﬂ%ﬂ%ﬂ%_
(m T S FE E?
(%) whegen @aon H AR fareu
(7) =t fFe wE B2
() wetR HwiTEe R FE 27
(B) o= fE VER B R
(=) o B W e i) 16
2, ‘TS ®Y ] TS A TyE:7’ T T W
weETo wia = FIfET

U]

barfy wan ) Aw: R 9 T
fryoe 9 SRRa: W/HY
fraffim s
Fom e Fe g wEE”
g T H A FAC 16

16562:50;KD/1455 (P.T.O.
11/12



3. WH viE ¥ w@e9 du fHury w1 sEmErn gfer avie
T

AT

oo ViR ® faveT #1 e §iEe avi #f
16

4. fr=fafas @ #1 =ren #ifm .
fafamearR w7 T 9@l
FISTATFIAFA  FITEAFT: W

DG

FE W Al TRt 9 W W # w9 § SR i
TR Fifs) 16

5. fafefas & @ 5= @9 == = @59 3w ===m
fererr mofas ot M .

16

16562/50/KD/1455 2
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BSM/D-18 16563
VADIKA SAHITYAM
Paper-VII
Time : Three Hours] {Maximum Marks : 80

e ;. qft wem st ¥

1. (%) FET F wA-@ ORm Ive™ B2
(W) AAE & A<FFT § 5w = §?
(M 'Sraraintey’ fFg 4T 4 TEg 87

(7) ‘'S99, vd W TaERn oy~ 9y qim R
Iufrer § 7

(¥) aeE & frdl U TmonR W TEeeE i)

(F) SFO TEE AWM F AT F OFE-T AT FE
™ ¥?

(B) oAz & TRONFY W W W &7

(W) T ¥ fre mosw #7 (2x8=16)

2. HER T EHE-FUN S
3rean
HAvEEr w1 AW giEm 16

3, WY VR F YWY U6 A 9a ¥C WRI W@l F
i g e

16563/50/KD/1779 [B.T.O.
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Ay

TOTHT F TEET T H@ gC Ay smomE w
ufeqm df 16

4. 39FME W= F Wat @ ofm s gy soReE )
TEar affa wifec)

1o
‘Wrfa TR mn wSRS w ofemr AP g6
5. ‘e’ e AT @ ufmm Sf
e

I’ w1 Y U§ TR W U Wt A # o
afem Sifam) 16
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BSM/D-18 16564
POLITICAL SCIENCE
(Western Political Thinkers—I)
Paper-I
Opt. ()
Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal

marks.

Az . A uf v ® 3w Qe st w @ siE wEm
#

1. Discuss Plato's concept of Ideal state. 16

T B Y T F ENTOT F SRS Hi

2. Critically examine Aristotle's views on Slavery. 16

T W W IR B IR Y e = Sl

3. Discuss St. Augustine’s views on State and Government.16
T T ® WY W@ W@ER B AR ¥ ReEm gEe
Eaisid

4. Why is Machiavelli called the First Modern Political Thinker ?

16
Aroraeh B vem e frane w= FE o 0

16564/150/KD/1243 [P.T.O.
4/12



5. Critically analyse Hobbes Social contract theory of the origin
of state. 16
TR 3 T * IO % aHE IR 5 fagre w5
S A HITI

6. Explain the main features of Locke's Political Philosophy.

16
AF F TaAtaE T B TS fAveasd #t os=men
Edi

7. Critically discuss Bentham theory of Utilitarianism. 16
T F IWiEER frga F e = #wW

8. Explain critically Mill's views about Democracy. 16
e &= drema weeft fEn % seeees =
F

9. Objective type questions.

RS I¥A)
(1) The most famous book of Plato is
(a) Republic
{b) Statesman
(c) The Laws
(d) Politics.
16564/150/KD/1243 2

(i)

(ii)

= F T WeE = s #
(%) fofse=

(@) Rzaid

(M x &9

(%) wieffeas

Who was the first political scientist ?
(a) Plato

(b) Aristotle

() Rousseau

(dy J1.S.Mill,

v Tof At W
(F) =

(@) st

(M ==

(W) Swm i

“Theory of Two Cities’ was given by
(a) Sabine

(b) Gettle

(c) Bentham
(d) St. Augustine.

16564/150/KD/1243 3

[P.T.O.



' TR W fagm’ few R oan: (v) According to Rousseau, population of state should be

) S 4 (a) 5,040

®) 10,000
(@) ¥ 3 () 11,000
) dam 3 d) 5,000.

TH F SER, T59 ¥ W9 €A e
(%) ¥ W= A

(F) 5,040
(iv) “Machivelli was the child of Florence and Renaissance.” (@) 10,000
Who wrote it ?
(M 11,000
(a) Dunning
(2) 5,000.
(®) Maxey (vi) Who justified the revolution of 1688 ?
(¢} Waypar (a) Plato
(d) Jones. {(b) Aristotle
‘At vt ol Tt = R oam't T (c) Hobbes
w7 PR ¥ (d) Locke.
(%) B *1 1688 #H wi w1 e sfaa swan om?
F) WS 3
(@) Tt w0 )
(@) sg &
(M AW T
(1) wE =
(9) I =
(%) |fF A

16564/150/KD/1243 4 16564/150/KD/1243 5 [P.T.O.



(vii) Jermy Bentham was born in
(a) 1748
(by 1730
{¢)y 1750

(dy 1752.
et e w1 YR g W
(%) 1748 ¥
(@) 1730 4
(M) 1750 W
(%) 1752 H
(viii) ‘Utilitarianism’ was written by
(a) James Mill
(b) Bentham

(c) IS Mill

(d) Spencer.

16564/150/KD/1243 6

16564/150/KD/1 243 7



(viir The term “Operation Vijay” is related to
'a) Indo-China War, 1962
(b) Kargil War, 1999
(¢} Indo-Pak War, 1965
(d) All the above. (2x8=16)
Vot faa frER wEtun 1)
(F) TRA-¥1 g, 1962 H
(@) #°fE g, 1999 W
() WRA-TF qZ, 1965 W
(9) S w9
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POLITICAL SCIENCE
(India's Foreign Policy~I)
Paper-III

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal
marks.

Wz . wX ulw v S o T ¥ wE owm ¥

1. What is Foreign Policy ? Trace the evolution of India's
Foreign Policy since Independenee. 16

frre it =0 ¥ wEeT # weR wRe ) feRw Sy
¥ ¥R fawm T rtEa @l

2. Duscuss the basic principles of India's Foreign Policy. 16
T w1 fey St w om g = s Fif
3.  Assess the role of Cabinet in India's Foreign Policy. 16
@ E R A F oed § afamvew #t s w
Lgic Rl
4.  Discuss the domestic determinants of India's Foreign Policy.
16

W F e A % wim P s w el s

16566/150/KD/1780 [P.T.O.
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5. Discuss the external determirants of Indian Foreign Policy
in the Post-Cold war era. 16
IW-717 IZ T W 9 fagw Py awd frufe
TE F AR Ffea)

6. Describe the role of the Ministry of External Affairs in the
making of India's Foreign Policy. 16
oA # fdw At F fmim & fRw gwem Fogfe
F FRE HE

7. Discuss the Kashmir factor in Indo-Pak reiations. 16
YRa-T% Waul ¥ SR ! TF FF F ®7 § I90 H{

8. Describe the conflict and cooperation between India and
China. 16
YR R W # A w6 R mwmm ¥ o=mmeEn FtEn

9. Objective type questions.

TS TER ¥
(1)  Who is the External Affairs Minister of India ?
{a) Narendra Modi
(b) Sonia Gandhi
(c) Sushma Sawarj
(d) Amit Shah.
gma w1 faRw Wit wm @2
(F) 7% 9
(@) Wfar mid
(M) o =E
(7) | wmE
16566/150/KD/1780 2

(i} Who is the author of the book “Crossing the Rubicon :
The Shaping of India's New Foreign Policy” 2
{a) R.S. Yadav
(by P.D. Sharma
(¢) I.N. Dixit
(d) C. Raja Mohan.

T G wEEN A I e e 3 whe
TR THF TEF A w8

(%) AR\, g

(@) A ot

(M) ST ffm

() . T g .

(iit) Who said, “Like other many things Foreign Policy starts
from home” ?
(a) H.J. Morganthu
(by David Hume
(¢) George Katlin
(dy George F. Kenan.
CEE TR A A WE fiw A ow ¥ e e
" fgmm 3w
(%) a3 Tnieg
(=) T v

(M N P
() I ww FA
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(iv) *“Challenges to India's Foreign Policy in the New Era”, (vi) Panchsheel agreement was done in

is written by (a}y 1950
(a) D.D. Basu (b) 1934
(b) R.S. Yadav
(e} 1958
(¢} K.C. Pant
. (d) 1962.
(d) Annpurna Nautiyal.
" Heifee 7 ThEas W dfh W G g s W e T e T e
SicE (F) 1950 ¥
(F)HA =g (@) 1954 H
(@) ¥NTHE. T (M) 1958 ®
(M 4. 9= () 1962 I
(™) E.I.._.H& Hfeare (vii) Indus Water Treaty was signed by
(v) Karachi Agreement was done in (a) India and China
(a) 1947 (b) India and Nepal
(b) 1949 . .
(¢) India and Pakistan
{c) 1950
(d) India and Bhutan,
(d) 1951.
ot R T o fay = wwge fFm W oo
(%) 1947 ® (%) o v ¥\ I
(@) 1949 (@) W 3R AN A
(M) 1950 H (M 9@ ¥ vfFErE g
(9) 1951 Hi (F) 9@ SR R FE
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